N = 0l & At & Ml A

20138 = =0l &k LB A JIEISEA DES ~ I3RS

SA: D8E
M 3o #E MO TQ(DHE)

& FUHAH2S (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
&8s 521,512 503,672 17,840
F0 MY BHo SR(UHS) 81,739 80,512 1,227
FRoHEH2H 81,739 80,512 1,227

SHE XA 62,320 64,320 A 2,000
301 LA Z 62,320 64,320 A 2,000
058 -2l -Has2E43 62,320 64,320 A 2,000

1. S E S| 62,320
ot JlEg=¢ 200,000& x19H 123 45,600
L. 403 200,000& *19H »23| 7,600
Ct. Sl &A= 20,000 *19H »23| x12& 9,120

FOUNXNHMHEZZOY 29F 16,523 13,296 3,227
201 L2l 13,796 13,296 500
01 At 22l 13,796 13,296 500

(dBr2=EHl) 1,796
1. FURNXMEHS S 120,000 » 12 »90% 1,296
2. ZA WA AI| =4&H| 50,000 * 10K 500
(2g9+¢) 12,000
1. FUXNXAEH ZAt=E 12,000
Jb, AE=HA 25,0003 +8Al 2t+12& 2,400

L, D4 25,0003 *8Al 2t 128 2,400

Ch. =24 25,0003 *8A| 2tx12& 2,400

ck. Z20l 25,0003 *8Al 2t 128 2,400

Or. JIBH = 25,0003 +8Al 2t+12& 2,400

405 XtatE SHI 2,727 0 2,727
01 XA = ZH SHI 2,727 0 2,727

1. teua 1,950
Jb. BE=D| 800, 000 *1CH 800
L, = 350,000& = 1CH 350
Ct. 2LIE(19"CLD) 350,000& = 1CH 350
ct., AT 2HE 380,000 = 1CH 380
Ot. otol=2 35,000& *2H 70
2. Zotma 777
ot = 80, 000& »3H 240
L &4 130,000& =34 390
Ct. &atel 49,000& =34 147

AKX 22 2,896 2,896 0
307 glz2tol & 2,896 2,896 0
05 RIZHRI & 3 2,896 2,896 0

1. ol &el==2 208,000& 128 2,496




2N DHS
o Fo ¥H BHO £2(DSS)
Sl FOIMHEY (er:@e)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
2. FAEIIEE+ 42
200,0008! » 12} 4 »23] 400
HH2YAU(DEES) 439,773 423, 160 16.613
EEE T 378,833 368,756 10,077
o1z 2oyl 378,833 368,756 10,077
101 91 24 bl 363,893 355,076 8,817
01 24 363,893 355,076 8,817
(23) 249,201
1. 52(285%) 3,797, 100 « 1« 128 45,566
2. 62 (295 %) 3.332,000% « 1« 128 39,984
3. 72(135%) 2,347,200 «32 * 128 84,500
4. 83(752) 1,726,900 %2 » 122 41,446
5. 93 (35 %) 1,288,200 %2 +12% 30,917
6. XMt 242,413,000 +2..8% 6.788
(a0i4g) 29,127
I He3a+Y 1,640
o 5302 (295 %)
3.332,000% 12 »4. 1%+122 1,640
2. B24g 249,201,008 *1/12 20,767
3. B24gta3 6.720
J. 2511014 130,000 2% * 122 3,120
Lb. 151401 4-2014018F 80,0009 *1% «12% 960
Ch. 1001 4-15E018F 60,0002 2% + 122 1,440
2h. 510/ 4-10 018 50,0008 2% «12% 1,200
CH2d ) 5,760
1. &= 5,760
o R 40,0002 6% * 122 2,880
Lk, JIEHS 20,0002 +12% * 122 2,880
(S42248) 9,720
1.S4+5Q4g 9.720
b S22+ 70,000 +92 * 122 7,560
L. olagesy 30,0002 2% * 122 720
Ch AFSISXZS4Y 30,0008 <22+ 128 720
2. SIS XYY
30,0002 x22 * 128 720
(ZDH2249) 31,124
LA RAT 8 476%+34AI 2440 x 128 31,124
(M2 AS) 38,961
E-E =] 130,000 +02 * 122 14,040
2. YEFEIH 249,201,0002! +1.2/12 24,921
204 =243 2 bl 14,940 13,680 1,260




2N
X ZH -
L= B

el

ro 02 fJ
19 02 0x
Ho Ao o

02 02

=5

(O]
=
=

=
0x
Uil

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
02 22 =4 14,940 13,680 1,260
1. A82 Xl 14,940
b, 53 250,000& x1H «12& 3,000
L. 62 155,000& x1H 122 1,860
O. 72 140,000& x3H 128 5,040
ct. 8-9= 105,000 x4 H «12& 5,040
=34l 60,940 54,404 6,536
JlE2&l 60,940 54,404 6,536
201 L2l 24,220 22,024 2,196
01 At 2t 2l 11,994 10,480 1,514
(dBr=EHl) 7,865
1. 223l 300,000& *9H x80% 2,160
2. HIHIZ S RAMRES 100,000& =123 1,200
3. FUSES=2LSEX 27,0003 x152F A 405
4. QLBESHEMLSEX 64,000 *58F A 320
5. ZEHEH 170,000 +4CH x4 3] 2,720
6. =AJIEH 130,000 = 1CH 43l 520
7. BMAESIIEYH 100,000 1CH »3=l 300
8. el&dlel= 20,000 =1CH*12& 240
(2g=¢) 500
1. €=s8H 50,0003 1«10 500
(S4l) 3,629
1. JI2gR+HEI S 4|
B *64] 9 « 122 «80% 3,629
02 =24l 12,226 11,544 682
(S32L2LHA) 10,884
1. fE= 2,074
b, Lt 2703 x50 123 162
Lk, S2I 1,770& 9021 « 12 1,912
2. ¥z 670,000& 128 8,040
3. 4otz 45,0003 x12& 540
4. BEMNERE 2 25,000& »23] 50
5. stx+2 180, 000& 12 180
(A2 & Hl s Xdl) 1,342
1. =71 45,0003 *2CH 43 360
2. BTE A 90,0003 = 1CH 90
3. SQSOIAIAH |2 2Hl 33,000& *43] 132
4. N2UAAAE | 2=t
30,0002 ~12& 360
5. AANHE 400,000 400
202 oddl 24,960 20,160 4,800
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= o
A & 0l & AF 2 E A A
SN BHS
M ZolME BT D(EME)
Sl FRIMESY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2483 789,858 709, 143 80,715
FUHY HOAT D (EHSE) 132,976 130,546 2,430
FRoHEH2H 132,976 130,546 2,430
= .8H& XI# 115,900 116,750 A 850
301 LA Z 115,900 116,750 A 850
058 -2l -Has2E43 115,900 116,750 A 850
1. S E S| 114,800
ot JlEg=¢ 200,000& x35H 12 84,000
L. &= 200,000& *35H »23| 14,000
Ct. Sl &A= 20,000 *35%H »23| x12& 16,800
2. Y& =g 25,0003 «22H +23] 1,100
FURXNAMEZE2H2 S 14,096 10,896 3,200
201 Let24d] 13,296 10,896 2,400
01 At 22l 13,296 10,896 2,400
(der29yl) 1,296
1. FUNXHEHS S 120,000 * 12& *90% 1,296
(2g9+¢) 12,000
1. FQXXIAE ZAt=E 12,000
b, &8s 25,0003 *8A| 2tx12& 2,400
L, D4 25,0003 *8Al 2t+12& 2,400
O, AXZEHA 25,0003 *8Al 2t 12 2,400
ct. 2t 25,0003 *8Al 2t 122 2,400
Of. WeldA 25,0003 +8Al 2t+12& 2,400
405 XtatE SHI 800 0 800
01 XA = ZH SHI 800 0 800
1. JIuwa Lefgr==I| J1J1 A
800,000 »10H 800
EAtS R 2tel 2,980 2,900 80
307 21201 A 2,980 2,900 80
05 RIZt2IEt = 2,980 2,900 80
1. o3 elid 2 220,000 128 2,640
2. BAFEI|GEG LT
170,000 *1JH A %23 340
HYR2IZH (EAES) 656,882 578,597 78,285
el 2l 572,668 505,713 66,955
ol 2| 572,668 505,713 66,955
101 @124l 551,068 485,133 65,935
01 2= 551,068 485,133 65,935
(22) 376.835




2N BHS
B BNSARY(HLS)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
1. 53 (302 8) 3,849,500& x1H x 123 46,194
2. 6=(2623) 3,244 4003 «3H x12& 116,799
3. 72(1388) 2,347,200 x4 H «12& 112,666
4. 832(658) 1,653,500& x2H 123 39,684
5. 92(588) 1,423,000& x3H 12 51,228
6. XMSIHAH 366,571,000& »2.8% 10,264
(40 +¢) 44,096
1. e33R =+E 1,653
Jt. 52U (30&3)
3,357,800 x 1«4 1%+ 128 1,653
2. 32=+Y 376,835,000& *1/12 31,403
3. 2=Eotits 11,040
Jb. 25401 & 130,000& x3H 128 4,680
Lt. 20 0l &f-25H 0| 2t
110,000& »2H 128 2,640
Ct. 100l &4-15H 018 60,0003 x1H«12& 720
ct. 550/&-10&9012 50,000 «5H =128 3,000
(HABE L) 13,896
1. &5 8,520
Jb. B X 40,0003 «8H x 128 3,840
Lt. JIEFDLS 20,0003 x18H x 123 4,320
Ch. D3 (ATHAHA 01 &)
30,0003 «1H«12& 360
2. AHEH BExY 5,376
Jb, DSEM 448,000 x3H +4 7| 5,376
(E=22=+Y) 13,320
1. S+x2sy 13,320
. S22+ 70,000 12 =128 10,080
Lt ARG 30,0003 «3H 122 1,080
Cht. AHI=XNZ =2 30,0008 «3H 122 1,080
ct. A SR YR+ 3
30,0003 «3H 128 1,080
(=n22=+4) 44,957
1AL 22 8,4763 +34A1 2H+13H « 123 44,957
(AMHIB&S) 57,964
1. 3z Al 130,000& x13H 128 20,280
2. BEFItYI 376,835,000& *1.2/12 37,684
204 AR A H| 21,600 20,580 1,020
02 g2l 21,600 20,580 1,020
1. A28 Xl 21,600
b, 53 250,000& x1H «12& 3,000
L. 62 155,000 x3H x12& 5,580
o. 72 140,000& x4 H 128 6,720
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X ZH -
L= B

el

ro o2 m
J¥ 0x 0%
M0 HO O

oy

o

™

0x

O

02 02

=5

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
105,000& x5H »12& 6,300
84,214 72,884 11,330
84,214 72,884 11,330
32,814 30,844 1,970
15,132 13,724 1,408
9,390
300,000& 13X x80% 3,120
2. PAMNEESHI 100,000 128 1,200
3. 1E U 200,000 *3CH *33] 1,800
4. 250,000%22] 500
5. 100,000 *1CH x4 3] 400
6. 2 | 200,000 *1CH =12 200
7. FUSESzEL=SENXN 27,0003 *30B0OX 810
8. LS d=2EX 64,0003 x10BOX 640
9. 2I&D| el= 20,0003 «34 =122 720
(2e+¢) 500
1. =38 50,0003 «1&H+10< 500
(=&l) 5,242
1. 28RS 2=4
7,000 *6A! x13H « 12 +80% 5,242
02 23224 17,682 17,120 562
HAl) 15,298
2,873
270 10024 12 324
=P 1,770& x 1204 128 2,549
2. SNEA Bz 840,000 122 10,080
3. SMEL Hot=E2 80,000& »12& 960
4. SN X HEALA>Z 200,000 *13] 200
5. M&S SSa e 2eldl
30,000& x12& 360
L NASFUSSHHEY HetxE3A 2
200,000& x 13| 200
L EHENERES 50,000& *23l 100
OIHY AtE= 15,0003 =20 x12& 360
FEYE M2 10,000 128 120
HII0IEX MAZE 45,0008 +1CH*13] 45
ZHHI 2 XIl) 2,384
EAMNAESH X 2l 1,000, 000& 1,000
L HNASFUISAME 2l =48]
400,000 400
01 | 30,000 122 360
EQIE0IAAE I8 4|
33,000& *20H x4 3] 264
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2L 24
X ZH . S
o Tt

o
gelr Jl=

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
5. XAI2AMAAE RAE |

30,000& x12& 360

202 04 b 35,520 29,760 5,760

01 2LHOHI 9,600 8,640 960
1. S LHA B 20,000& 10 4G x12& 9,600

02 &40 b| 25,920 21,120 4,800
1. 2HAYI 240,000& x9H x12& 25,920

203 ¥R =&H| 10,080 10,080 0

01 J|2A2HLR=XH| 6,600 6,600 0
10|22 R =AY 6,600,000& 1 6,600

02 HRJIAE R =&Y 480 480 0
1. 833NN RFE| 40,000& *124H 480

04 ENSHLRF=AH| 3,000 3,000 0
1. 2N2ELERFAH| 250,000& =128 3,000

204 &R = A H| 1,800 1,800 0

01 MR- AY| 1,800 1,800 0
1. AMBHR2FEY| 1,800
h.s& 150, 000& 1« 12& 1,800

405 XH&HF SHI 4,000 400 3,600

01 AL 2 EF SHI 4,000 400 3,600
1. 3 SER 200, 000& =204 4,000
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SH EME
B #HSAPL (HLHS)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
101 2121 d| 350,006 343,192 6,814
01 2% 350,006 343,192 6,814
(22) 242,705
1. 52(305 &) 3,849,500 x 1 x12& 46,194
2. 62 (2352) 3,132, 7002 x 1 x12& 37,593
3. 7398 2) 2,074,400 3 x12& 74,679
4. 832 (72 8) 1,726,900& *x3H 128 62,169
5. 933z &) 1,288,200& x1H +12& 15,459
6. M &HI 236,094,000 *2 . 8% 6,611
(M) 26,586
1. 832< 242,705,000 x1/12 20,226
2. 329 IHa3 6,360
JF. 254 0] &t 130,000& x1H x12& 1,560
Lt. 204 Ol &~25E O Bt
100,000& x1H x12& 1,200
Ch. 54 0| A~104 0| 2F 50,0003 «6H x12& 3,600
(JHHEE 24 3,120
1. JII5x¢ 3,120
JF. B X+ 40,0003 *x3H x12& 1,440
Lt. JIEHDFS 20,000& x7H x12& 1,680
(E4222Y) 8,160
1.€Ex322H 8,160
o, s22=4Y 70,0003 x8H x12& 6,720
L., OIS 30,000 x2H 128 720
Ct. MaI=sXg2sY 30,000& 18 x12& 360
ch. Mg EXE 2SIt 2
30,000& 19 x12& 360
(=222 31,124
1A 224 8,476 x34 A 2+ x9H x12& 31,124
(Alg2aS) 38,311
1. dHZAH| 130, 000& 9 x12& 14,040
2. &S| 242,705,000 1.2/12 24,271
204 & 2 =S H H| 14,940 14,520 420
02 238 x| 14,940 14,520 420
1. A3 XH| 14,940
ob. 53 250,000& x1H +12& 3,000
L. 62 155,000& x1H ~12& 1,860
Ct. 72 140,000 *3H x 12 5,040
cl. 8~932 105,000 x4« 12& 5,040
Jl=23 bl 61,519 54,110 7,409
Jl2343Hl 61,519 54,110 7,409




SH EME
B #HSAPL (HLHS)
e Jl=3l (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 21,077 19,050 2,027
01 AtR 2t 2l Hl 10,657 9,355 1,302
(er==8Hl) 6,528
1. 228+l 300,000& 9 x80% 2,160
2.0HZERANRES 100,000& »12& 1,200
3.UO0INERE EH/EH
170,000 *4CH +32] 2,040
4 FRUSESZ2LESSA 27,0008 122 A 324
5 0L2SBNLSESFEXN 64,0002 62 A 384
6.0150|2 20,0008 * 10§ *6 2 120
7.0S0YI(SM, HA) 25,0008 *20H <23 100
8.1 A E | 100,000%! * 1CH 23] 200
(2g+g) 500
e 50,0008 12 %102 500
(2z) 3,629
1olEgRsssag A
7,000& 64! x9H « 122 *80% 3,629
02 S2=24Hl 10,420 9,695 725
(2323 ¢ HA) 6,356
.28 2,416
Jb.get 2703 «90A 128 292
L. S91 1,770 10024 122 2,124
2.8J1= 280,000& »12& 3,360
3.840t=== 30,000& 122 360
4 BEMNERE S 40,0003 #23 80
5. 83txFLeg 140,000& =13 140
(¢=2Hl) 2,232
1AR A 1,550& *3¢ *6A| 2F+80L 2,232
(A& & Hl = Xldl) 1,832
1LEMNASRAES 1,100,000& 1,100
2. 8+=J183 20,0002 «1CH~12& 240
3.2UEIANAHERXE 33,000& »43] 132
4 NSUMAAERRE S
30,000 = 1CH*120H & 360
202 o4 Hl 24,960 22,800 2,160
01 S OHI 4,800 4,320 480
1.=o 20,0002 «10€ «2H « 122 4,800
02 FAH0dtl 20,160 18,480 1,680
1.2 A0 240,000& x7& « 122 20,160
203 YR =AYl 9,960 9,960 0
01228 g=al 6,600 6,600 0
101228 = 6,600,000 «1& 6,600
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SH EME
M HY2ALH(BAHS)
¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 It =& 360 360 0
1. H3JAIMME =L 40,0003 94 360
04 EANSS LRI 3,000 3,000 0
1.2M2EYRFEH 250,000 128 3,000
204 AR A H| 1,800 1,800 0
01 ¥R 1,800 1,800 0
1AM 3P FTH| 1,800
s 150,000 x1H 128 1,800
401 Al I 28I 1,422 0 1,422
01 A& HI 1,422 0 1,422
1.=2UXNXAE SsctelE X 96,000 «7H 672
2.F0ME EXAtHiet(E2)4 X
750,000& =14 750
405 TtatF S| 2,300 500 1,800
01 et EFSHSHI 2,300 500 1,800
1. AsS0l 2,300,000& =1H 2,300




N = 0l & At & Ml A

SM: Ba2s
HE: =0l #N MO 9 (HM2S)
ool FoMEHSY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Eit2s 593,991 632,385 A 38,394
F0 MY Eo TR(EA2E) 90,816 90,816 0
FRoHEH2H 90,816 90,816 0
= .8H& XI# 74,660 74,660 0
301 LA Z 74,660 74,660 0
058 -2l -Has2E43 74,660 74,660 0
1.SeE-g et 72,160
o224 200,000& x22H 12 52,800
L. &d=s 200,000& #22H x23| 8,800
Ch.elo&gag 20,000 x22H »23| x12& 10,560
2.8t 8¢ 25,0003 «50H #23] 2,500
FOUNXNHMHEZOH 2 13,296 13,296 0
201 Let24d] 13,296 13,296 0
01 At 22l 13,296 13,296 0
(ger=&dl) 1,296
1.2 XX ME2F ] 120,000 * 12& *90% 1,296
(2g9+¢) 12,000
1. XX MEH 2 A =E 12,000
b ZEEHWA(A) 25,0003 *12A] 2+ 122 3,600
L. 2 FEH A (B) 25,0003 x12A1 2t 128 3,600
Ct.E2wa(A) 25,0003 *8Al 2t 12 2,400
.2 2wa(B) 25,0003 *8Al 2t 122 2,400
AR 22 2,860 2,860 0
307 glz2+ol & 2,860 2,860 0
05 RIZHRI &t 3 2,860 2,860 0
1.eoZyaelidss2 220,000 128 2,640
2HNEINAHHBSHE
110,000 *1JH 2 %23 220
HE I AU (B A2S) 503,175 541,569 A 38,394
el 2l 437,751 478,919 AN 41,168
ol 2AH| 437,751 478,919 AN41,168
101 @144 dl 420,951 460,619 A 39,668
01 2= 420,951 460,619 A 39,668
(22) 289,113
1. 52 (302 8) 3,849,500& x1H x12& 46,194
2. 62(2458) 3,171,900& »2H «12& 76,126
3. 72(1438) 2,408,500& «3H x 123 86,706
4. 82 (62 8) 1,653,500& »2H «12& 39,684
5. 9248 8) 1,355,300& x2H x 123 32,528
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SM: BM2S
=1

M HF2IFHI(BA2S)
Chel: ol 2y (el &)
SA-ZH () - HRAY - BES Off &4 %Ei Hwsz
7. AW &I 281,238,0002 *2. 8% 7,875
(A=) 35,359
1. sy 3,346
Jb. 42U2(305 L)
3,849,500 1% 4, 1%+ 122 1,894
Lt. 62U (262 E)
2,951,100 1% 4 1%+ 128 1,452
2. 24y 289,113,000 *1/12 24,093
3. B2+gIa2 7,920
Ob. 25 0] & 130,000 «3% 128 4,680
Lt. 2045 0] AF~251H 0] Ot
110,000 « 1% « 128 1,320
Ch. 10E 0l & ~153 0/ 8 60,0008 *1H * 12 720
2t. 5810/ 4~10H 018 50,0008 «2H «12% 1,200
OIHERSH) 8,384
1. 544 4,800
Jb. B R 40,0009 x5 « 128 2,400
Lb. JIEIHE 20,000 «7H « 128 1,680
Ch. JFAFS (AT XA Ol &)
30,0009 =22 « 12 720
2. REsHBESG 3,584
Jb. DSt 4480008 x2% x40 3,584
(E+22+9) 9,000
1. E4=24¢ 9,000
. S22+ 70,0002 «9H « 128 7,560
B 30,0008 x2H 12 720
Ch. AFEISXIZ24Y 30,0002 *1H*128 360
2t AIEIEX Y RSSOt S
30,000 «1% « 128 360
(ZB2249) 34,583
TAAQA22 4G 8,476 *34AI 2t +10Z « 128 34,583
(M BAS) 44,512
1. BAZAH| 130,000 « 10 » 128 15,600
2. WEFIH 289, 113,00094 «1.2/12 28,912
204 = 2 454 A | 16,800 18,300 A1,500
02 g2 = 16,800 18,300 A1,500
1. 32Xl 16,800
ot 53 250,000 «1% « 128 3,000
Lt. 62 155,0008 «2% « 122 3,720
Ct. 73 140,000 «3% « 128 5,040
2. 8~93 105,0009 x4 « 122 5,040
Il 23 65,424 62,650 2,774
JI 2 A 65,424 62,650 2,774




SN B2
B WNS YA (HLU2S)
e Jl=3l (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 25,134 22,310 2,824
01 AtR 2t 2l Hl 12,336 11,051 1,285
(er==8Hl) 7,804
1. 228+l 300,000& 10 »80% 2,400
2.0HZERANRES 100,000& »12& 1,200
3.980|el= 20,000 «401 x 128 960
4.0l M &E U 200,000 »3CH *23] 1,200
5.dl0lMEE 200,000& 73| 1,400
6.FUSEST2LSEN 27,000 »12Box 324
TRALSENLSESTEX 64,0002 «5Box 320
(2e=+¢) 500
19588 50,0002 «1H 10L& 500
(SEHl) 4,032
1olEgesssag Ay
7,000& 641 x 10 12& «80% 4,032
02 S2=24Hl 12,798 11,259 1,539
(SE2SLHA) 9,556
1.288 2,416
Jh.et 2703 +90A 128 292
L. S91 1,770 1002 122 2,124
2.8J1= 550,000& »12& 6,600
3.846t== 30,000& 122 360
4 BIMNERE S 40,0003 #23 80
SRS NS = 100,000& =13l 100
(¢=2Hl) 1,120
1AR A 1,400& #44 *4A| 2F+50L 1,120
(AE & Hl = Xidl) 2,122
1.E8MAS 1,000,000 1,000
2.2 AHE ST 100,000& = 1CH 100
3.&=7| 50,0003 *3CH 150
4. 2 UAAIAE R X E 44 33,000& *43] 132
5. XN2UAAAE SXE2H  30,000&~12& 360
6.+==2 2/t 35,0003 *42 140
7. 80| 2/t 60,000& *4:= | 240
202 o4 4l 27,840 28,080 A 240
01 20l bl 4,800 4,320 480
1.=o gl 20,0002 «10€ «2H « 12 4,800
02 EA0dtl 23,040 23,760 AT20
1.2 40 240,000 x8& x 122 23,040
203 Y2 X Y| 10,000 9,960 40
01 J1Z22gg 2= 6,600 6,600 0
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>
A & 0l & AF 2 E A A
SM: BA3S
Ha: =0l #N MO 2(HMIS)
chelr FOME 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
L3S 712,959 712,096 863
F0 MY EHo TR2(EA3S) 128,540 130, 100 A 1,560
glegy 24 128,540 130, 100 A 1,560
= .8H& XI# 91,840 93,740 21,900
301 LA Z 91,840 93,740 A 1,900
058 -2l -Has2E43 91,840 93,740 A 1,900
1.88+2 & &3l 91,840
o224 200,000& x28H 12 67,200
L. &d=s 200,000& *28H »23| 11,200
Ch.elo&gag 20,000 x28H »23| x12& 13,440
FOUNXNHMHEZZOY 29F 33,620 33,420 200
201 -4l 32,820 30,420 2,400
01 At 22l 32,820 30,420 2,400
(dBr2=EHl) 1,620
1.F8XXEEH2E 150,000 » 12 »90% 1,620
(2e+¢) 31,200
1.:UNXEE ZAE 31,200
JbAZXHA(E) 25,0003 *8Al 2t 128 2,400
LhAZXHA(D) 25,0003 +8Al 2t+12& 2,400
ot 25,0003 *8Al 2t+12& 2,400
et IS M= 25,0003 *8Al 2t 12 2,400
OF. A Ol B 25,0003 *8Al 2t 122 2,400
gh. 2320 et 25,0003 +8Al 2t+12& 2,400
AMOEZwa 25,0003 *8Al 2t 12& 2,400
Ob. & H = 25,0003 *8Al 2t 12 2,400
. .feE 25,0003 *8AI 2t 12& 2,400
.2t 25,0003 *8A| 2t 128 2,400
ot.eH=2 25,0003 *8AI 2t+12& 2,400
Et.of2tZ=2 0 25,000 *8Al 2t+ 123 2,400
ot A2 A 25,0003 *8A| 2tx12& 2,400
405 XH&bF S HI 800 3,000 A 2,200
01 AL ESFH S 800 3,000 A2,200
1.0t EH=D] 800, 000& 1CH 800
PSRN | 3,080 2,940 140
307 glz2tol & 3,080 2,940 140
05 RIZHRI &t 3 3,080 2,940 140
1.eoZyaelitdss2 230,000 12& 2,760
EMEIIE A ==2
160,000 *1JH 2 %23 320




SH EMSE
B #HSAPY (HLU3S)
chel: ol gyl CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
Y 2HAH (HAIS) 584,419 581,996 2,423
el 2 503,531 509,482 A5,951
g =gl 503,531 509,482 A5,951
101 124 H] 483,791 489,142 5,351
01 2=+ 483,791 489,142 Ab5,351
(83) 332,703
1.52 (308 8) 3,849,500 x1E «12& 46,194
2.62 (255 8) 3,209,200 »2H »12& 77,021
3.72(11&8) 2,215,800 »4E »12& 106,359
4.82(653) 1,653,500 «4H «12& 79,368
5.92(283) 1,224,900 x 18~ 128 14,699
6. X S IH & Hl 323,641,000& »2.8% 9,062
(&0i==¢) 35,886
1.82+¢ 332,703,000& *1/12 27,726
2.832+Emt= 8,160
Jb.253 01 & 130,000& 3 122 4,680
Lt 15601 &8~20 012t 80,0002 x1& x12& 960
Ch.104801&~158 012t 60,000 «1H «12& 720
ch.5E 0l & ~10= 0] 2t 50,000& «3H «12& 1,800
COHEdE=¢) 9,952
1.5+ 8,160
b =Xt 40,0002 10¥ 128 4,800
LE.JIEDES 20,000 x14& 122 3,360
2. XAt BEx+H 1,792
J.asstd 448,000& 1 %47 1,792
(Ex=22=¢) 11,760
1.5+82+Y 11,760
h.s22=¢ 70,0003 «11H «12& 9,240
L. 23R 30,000 x3& 12 1,080
Ch AR =g e+g 30,0008 x2& 122 720
ch AP SR =G0t S
30,0008 »2& x12& 720
(=22=¢) 41,499
TLAZLRAZ RS 8,476 *34AI 2+ 128+ 123 41,499
(AH24S) 51,991
1. 83944 130,000 x 128 »12& 18,720
2. 3 E 5 Ity 332,703,000& *1.2/12 33,271
204 XM FH| 19,740 20,340 A600
02 M= 2 x| 19,740 20,340 A600
(M2 2 =Hl) 19,740
Jt.5= 250,000& x1& x12& 3,000
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SH EMSE
B #HSAPY (HLU3S)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
Lt.62 155,000& x2H +12& 3,720
Ch.72 140,000 x4« 12& 6,720
ct.8~92 105,000 x5H x 12& 6,300
80,888 72,514 8,374
80,888 72,514 8,374
UBtE AH| 31,348 28,724 2,624
P2 22l bl 14,650 13,240 1,410
2ot EH|) 9,311
1. 2NSH2=SH| 300,000 *x12H *80% 2,880
2.0HHZYERAMNRES 100,000& *12& 1,200
3.FUSESz2EN 27,000& x258F A 675
4 02SHEANELZEX 64,000& x148F A 896
5.4100 H&EH 120,000& =4l 4 3] 1,920
6.4101 HEH 150, 000& x3CH *23] 900
7.0150|2=2 20,000 =3 6 & 360
8. HAEH 90,000& = 1CH *x23] 180
9.5 AJIEH 150, 000& =10 *23] 300
(2gag) 500
1. 92856 50,000& x1H +10 500
(Z22Hdl) 4,839
1|28 E22 4|
7,000 x6A1 12 x 128 *80% 4,839
02 352t 16,698 15,484 1,214
(2222 % HA) 13,906
1.28H2 3,298
Jl. Bt 2702 *100H x12& 324
L. S9I 1,770& x 1402 12& 2,974
2.8J|2 720,000 x12& 8,640
3. 4Gt = 70,000& x12& 840
4 AN EEL S 60,000& *23] 120
5833 xdarxr5 300,000& *13] 300
6.0 EHUAIEZ 15,000& 20 x12& 360
7.HOISTVAIEES 7,000& =10 =12& 84
8. 8D 0izelyl 66,000& x1LH 4= D 264
(AIE =HI 2 XIH]) 2,792
1.23ANAS S X E b 2,000,000& 2,000
2.2 AT ST 100, 000& = 1CH 100
3.7 50,000& =2CH 100
4 HYYUSH 100, 000& = 1CH 100
5.2 01 S0l Al A&l 22l 33,000 *43] 132
6. X201 A Al A& 22|
30,000& 1~ 12& 360

_19_




& AM3S
82 A (2 M3E)
Jl2&dhl (e &)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
202 0db] 33,120 ,240 2,880
01 2LHOHI 7,200 ,480 720
1.2 Yl 20,0003 * 10 x3H x12& 7,200
02 NN b 25,920 ,760 2,160
1.2 XYl 240,000& x9H x12& 25,920
203 &R =&H| 10,040 ,000 40
01 J|22H L R=XH| 6,600 ,600 0
10|22 RFAH| 6,600,000 « 1 6,600
02 HRJIAE R =&Y 440 400 40
1. 833NN R2FEH| 40,000& *11H 440
04 EANSHLR=AH| 3,000 ,000 0
1. 2N2ELERFAH] 250,000& =128 3,000
204 &R = A | 1,800 ,800 0
01 S HR-HAY| 1,800 ,800 0
1LEMZY2FT Y| 1,800
h.s& 150,000& 1 +12& 1,800
405 XtabF SHI 4,580 , 750 2,830
01 AL 2 EF SHI 4,580 , 750 2,830
1. AR E2 Xt 160, 000& *6H 960
2.ANIR = A 230,000& =144 3,220
3.4& D 400, 0003 =14 400
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N = 0l & At & Ml A

2N kRS
M =0l #F HY CR(LAE)
Sl FRIMESY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Ee g 693,419 748,747 N bB5,328
0 A Mo E2(Les) 139,780 147,710 A7,930
FOIMEHSY 139,780 147,710 ANT7,930
s BHa X 108,640 116,650 A8,010
301 et A= 108,640 116,650 A8,010
bE-2-EtEEEsEMZ 108,640 116,650 A8,010
.88+ 2 23| 108,240
bl 200,000¥ 33 «12& 79,200
L. &= 200,000 *33HH *23| 13,200
Ch. &2axe 20,000 x33H x23| x12& 15,840
2. 8H& 25,0003 8 x23| 400
=OXXAMHEZ O 2HA 28,020 28,020 0
201 et d]| 28,020 28,020 0]
01 AP 2t 2| bl 28,020 28,020 0
(geted|) 1,620
1. F=0I XX A Ef 2 H | 150,000 * 122 *90% 1,620
(2944 26,400
1.F0ANXME ZAIE 26,400
b .=2wal 25,000& #8A| 2t x12& 2,400
b A0 A 25,000 *8A| 2Hx20f A~ x 12 4,800
Chotleuwa 25,000& *8A| 2t*x2Jl A~ x12& 4,800
O AZXHHA 25,000& «8A| 2t x12& 2,400
ct.RItw Al 25,000& *8A| 2tx2Jl A~ x12& 4,800
0.8 =20 & 25,000 x8A| 2t x12& 2,400
HH. &2 W4 25,000& #8BA| 2t x12& 2,400
A =2 DA 25,000 x8A| 2t x12& 2,400
HAIS X 22| 3,120 3,040 80
307 21240 3,120 3,040 80
05 QIZ2tRE 2 3,120 3,040 80
1.2old 22 230,000 x12& 2,760
2.EANEI|INME QLSS
180, 000& * 1 A %23 360
HHL2IAAH(R’SE) 553,639 601,037 N47,398
oz eyl 476,607 523,932 N47,325
ol ALY 476,607 523,932 N47,325
101 Q124 4] 458,127 503,172 N 45,045
01 2 458,127 503,172 N 45,045
(23) 315,279
1. b2(295 2) 3,823,600& x12H x12& 45,884
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SN s
M HHR2IZH(=S)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
2. 62 (265 3) 3,244 4003 x2H x 123 77,866
3. 72 (145 8) 2,408,500& *4H 123 115,608
4. 82(588) 1,580,600& »2H «x12& 37,935
5. 92(288) 1,224,900& x2H 123 29,398
6. X<l 306,691,000 *2.8% 8,588
(840 +¢) 35,847
1. SR =Y 1,293
b 62U (1858)
2,626,200 x1H «4 1%+ 122 1,293
2. 82=+E 315,279,000& *1/12 26,274
3. 23 8,280
Jb. 25E 01 & 130,000& »2H 122 3,120
Lt. 20\ 0l &~251 0] 2t
110,000 x1H 122 1,320
Ct. 15501 &4~209 018 80,0003 »2H «12& 1,920
et. 10 0l &4~15E 018 60,0003 x1H«12& 720
Ot. 5501 &~104 012 50,000& «2H =128 1,200
(OtAEAE) 8,752
1. &5 6,960
Jb. B X 40,0003 «6H x 128 2,880
Lt. JIEFDLS 20,0003 x17H+123 4,080
2. AHSHIExSY 1,792
b, DSEM 448 ,0003 x 1 +47| 1,792
(E=22=+4) 11,520
1. S=88xE 11,520
. 22+ 70,000 10 =128 8,400
L. QR 30,000 «2H 122 720
Ch. ARI=EXIE R+ 30,0003 3 +12& 1,080
ch. ALeIS XS+ otaZ
30,000 «2H 128 720
0. JIsdE¢ 50,0003 1 128 600
(=n=2224Y) 38,041
1A 22 Y 8,476R +34AI 2t 118« 123 38,041
(AHIBAS) 48,688
1. §Hg A 130,000 x11H 128 17,160
2. BES0td| 315,279,000& *1.2/12 31,528
204 MR F | 18,480 20,760 A2,280
02 252 2l 18,480 20,760 A2,280
1. 2822l 18,480
b, 58 250,000& x1H =123 3,000
Lt. 62 155,000& »2H 128 3,720
O. 7= 140,000 »4H 123 6,720
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A LS
M HHSAAH (=VE)
eel: oA ey (er9:®e)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
| | 2. 893 105,0002 4% x 122 5,040
Jl= & 77.032 77.105 AT3
Il =& 77.032 77.105 AT3
201 Lty 33,822 32,245 1,577
01 AR 22l 14,439 13,048 1,391
(gera2H|) 8,696
1L2N2g+8H 300, 0002 * 112 *80% 2,640
2.0 2 PAREE 100,0002 * 12 1,200
3.20IHEY 200,000 +3CH *43] 2,400
4.0l HEE 100,000 *3CH * 13 300
5. 2A®ESIEY 130,0002! *2CH *13] 260
6.5. =21 27,0002 %248t A 648
70AELUZESEN 64,0002 * 128k A 768
8.2 AL X 20,0002 * 128t A 240
9.01=)|2l= 20,0002 *1CH*25] 62 240
(2g4+9) 500
le=xag 50,0008 18 10 500
(2Hl) 4,436
1ol2desssagay
7,0002 *641* 1124 * 122 x80% 4,436
(2x2) 807
1.2840] 9x2 33,6002 *20H 122 807
02 2229 19,383 19,197 186
(2222 2 HAM) 16,131
1.e@g 3,298
b, e 2702 *10021 x 122 324
L. E0I 1,7702 14021 12 2,974
2.70|2 920,0002 * 122 11,040
3.4 Bt 60,0002 * 12 720
4 BENLERYZ(ANESE) 65,0002 23] 130
50 HUYAIEE 15,0002 * 12 180
6.H0ISTVAIE 2 7,700+ 122 93
7.RXEAS AR 185,0002! * 13 185
8.1 s 370
o SR Y 300,000% *1CH*13] 300
Lt.OI & Xt 70,0008 * 1CH *135] 70
9.WIHAEEE 55,0002 * 1CH *13] 55
10.SENHESLS(SREG )
30,0002 * 1CH*13] 30
1. RS XAl (S8 E Rt 30,0008 * 1CH *13] 30
(A& ZHISXH) 3,252
1.8 8 g & &yl 100,0002! * 1CH 100
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>
A & 0l & AF 2 E A A
AN AAIS
HE: F0 #HE MY T2(LHIS)
& FUHAH2S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A2A1S 721,391 671,365 50,026
F0 MY BHo SR2(AA1E) 107,756 113,456 A5,700
FRoHEH2H 107,756 113,456 A5,700
SUEIA 91,560 94,060 A 2,500
301 LA Z 91,560 94,060 A 2,500
058 -2l -Has2E43 91,560 94,060 22,500
1.88+2 & &3l 88,560
o224 200,000& x27H 12 64,800
L. &d=s 200,000& #27H x23| 10,800
C.go+¢ 20,000 x27H »23| «12& 12,960
2.8t 8¢ 25,0003 «60H 23] 3,000
FURXNAHEZ I H2 S 14,096 17,296 A 3,200
201 Let24d] 13,296 13,296 0
01 At 22l 13,296 13,296 0
(der29yl) 1,296
1.:2UNXME 23| 120,000 * 12& *90% 1,296
(2g9+¢) 12,000
1.F0XXME A= 12,000
. oteuwa 25,0003 *8A| 2tx12& 2,400
Lh.oloi2= 25,0003 *8Al 2t+12& 2,400
Ch. X2 na 25,0003 *8A| 2tx12& 2,400
.2 A 25,0003 *8Al 2t 122 2,400
oh.E2ua 25,0003 *8A| 2tx12& 2,400
405 XtatE SHI 800 4,000 A 3,200
01 XA = ZH SHI 800 4,000 A 3,200
1. JtRer==I| 800,000 » 14! 800
AN 22 2,100 2,100 0
307 glz2tol & 2,100 2,100 0
05 RIZERI & 3 2,100 2,100 0
1. 2o+ = 160,000& 128 1,920
EMEIHE == 90,0003 14 2 *23] 180
HYRIZH (MH1S) 613,635 557,909 55,726
el 2 536,697 487,726 48,971
ol 2| 536,697 487,726 48,971
101 @124l 515,277 467,986 47,291
01 2= 515,277 467,986 47,291
(22) 358,005
1. 52 (255 8) 3,701,500 x1H«12& 44,418
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SA MRS
B #HSAPL (MH1S)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
2. 6= (238 2) 3,132, 700& x»2H x12& 75,185
3. 72128 2) 2,283,200 x5 x12& 136,992
4. 82 (55 &) 1,580,600& x2H 128 37,935
5. 92 (63 2) 1,492,300 x3H ~12& 53,723
6. XRIMAH 348,253,000 *2.8% 9,752
(M) 37,874
1. 332%¢ 358,005,000 x1/12 29,834
2. 29 Ita3 8,040
Jb. 254 0] & 130,000& x 1 x12& 1,560
Lt. 200l & 25 0] Bt
110,000 x2%H x12& 2,640
Ct. 150l & 20 0 Gt
80,000 » 1 x12& 960
2k, 10014k 158012 60,0003 x4 «12& 2,880
(JtHEE 24 4,320
1. JII5x¢ 4,320
JF. B X+ 40,0003 x4 x12& 1,920
L. JIEHDS 20,000& 10 x12& 2,400
(E4222Y) 14,040
1.5¢82Y 14,040
o, s224 70,0003 x 128 x12& 10,080
L. D@4 30,000& *x3H x12& 1,080
Ct. A =XE2E 30,0003 x4H x12& 1,440
ch. AISIEXE24EIHa2
30,0003 x4H x12& 1,440
(zn224+49) 44 957
1.A2E2 2R S 8,476R x34A| 2tx13H +12& 44 957
(AHBAS) 56,081
1. dHZAH| 130,000& x13H x12& 20,280
2. &S| 358,005,000 1.2/12 35,801
204 & 2 £ H H| 21,420 19,740 1,680
02 =28 x4 21,420 19,740 1,680
1. A3 EXH| 21,420
ot. 53 250,000@ x1H ~12& 3,000
L. 62 155,000& 2 128 3,720
Ct. 72 140,000& x5~ 12& 8,400
cl. 8.92 105,000& x5« 12& 6,300
Jl=23 bl 76,938 70,183 6,755
JlE23Hl 76,938 70,183 6,755
201 Yet2 | 28,558 25,763 2,795
01 At 22l ] 12,590 11,035 1,555
(etEddl) 6,848
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SA MRS
B #HSAPL (MH1S)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
1. 28294 300,000& *13H *80% 3,120
2.0HZERANRES 100,000& ~12& 1,200
3.Z2HEH 200,000& *2CH x23] 800
4. HO0IHEH/EH 200, 000& *x2CH x23] 800
5.0 =Esx28 27 ,000& =128+ A 324
6.2 ASHALZSEX 64,000 68 A 384
7.2EAMNESESI|CE 50,000 =10 *x23] 100
g8.ol&s)|el= 20,0003 =101 ~6& 120
(2d2Y) 500
1. 92856 50,0003 *1E 10 500
(SHl) 5,242
12828 E2ZAHI
7,000 x6A x 13 x 128 *80% 5,242
02 332 H| 15,968 14,728 1,240
(B222 ¢ HMA) 11,708
1.2H2 2,448
Jb. Bt 2702 x1004 x12& 324
L. S9I 1,770& x1002 »12& 2,124
2. dI|l& 7,800
. SMRA 350,000& 12& 4,200
Lh, =OI XX AEH 220,000 x12& 2,640
Ct. oigl2= 80,000& x12& 960
3.SAIRA Mot E 80,000& x12& 960
4. 233N RE S 20,000& 23| 40
5. 8slxe42 100, 000& *13] 100
6.9~ 5 15,000 *23| x12& 360
(A=2Hl) 1,248
1. AR A 1,300 x40 *4A| 2Hx60L 1,248
(AIE ZHI S XId]) 3,012
1.3AIA S 1,500,000 1,500
2.2 ANESED] 100, 000& *1CH 100
3.H Y S EY 100, 000& = 1CH 100
4.2k 7| 50,000& *2CH 100
5. 8%D| 20,000& ~6L 6 & 720
6.2 QI EOIAI AKX E 4=H] 33,000& *43| 132
7.XNESAAAE RS X E £H| 30,000+ 12& 360
202 04| 36,000 30,240 5,760
01 20l bl 7,200 6,480 720
1. =AY 20,000& 10 3P x 128 7,200
02 X0 H| 28,800 23,760 5,040
1.2 ¥ Y| 240,000 x10H x12& 28,800
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N = 0l & At & Ml A

SN A20s
Mo FOMHBO TR (AHE)
Sl FRIMESY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AA2S 661,823 584,698 77,125
FUHFHEOYT I (AA2S) 92,980 86,706 6,274
FRoHEH2H 92,980 86,706 6,274
= .8H& XI# 69,130 71,030 A1,900
301 LA Z 69,130 71,030 A 1,900
058 -2l -Has2E43 69,130 71,030 A 1,900
1.88+2 & &3l 68,880
o224 200,000& x21H x 123 50,400
L. &d=s 200,000& 21X »23| 8,400
Ch.elo&gag 20,000 x21H »23| x12& 10,080
2.9 & 25,0003 x5 +23] 250
FOUXXNHMHEZ S 2H 21,470 13,296 8,174
201 Let24d] 20,820 13,296 7,524
01 At 2relt| 20,820 13,296 7,524
(CEES=Yp 1,620
1. =2 XXM E =& 150, 000& » 12& *90% 1,620
(2g9+¢) 19,200
1. XX MEH 2 A =E 19,200
b AEZXTHA(EZ) 25,0008 *8Al 2F+12& 2,400
LhAZXHA(SZ) 25,0008 +8AI2H+128 2,400
ChAZ=HA(DZ) 25,0002 *8Al 2F+12& 2,400
ct.=2Ed|3wa 25,0003 *8Al 2t 122 2,400
oh.E2ua 25,0003 *8A| 2tx12& 2,400
Ht.K-Pop & H A 25,0003 *8Al 2t 12& 2,400
A EM=stt 25,0003 *8Al 2t 12 2,400
Ot.2stna 25,0003 *8A| 2tx12& 2,400
405 XHoHF S HI 650 0 650
01 AL EZFH S 650 0 650
T.HEC(ZZOd Zdl) 650,000& = 1CH 650
FANRX 22 2,380 2,380 0
307 glz2+ol & 2,380 2,380 0
05 RIZt2IE = 2,380 2,380 0
.23 el 180,000& 128 2,160
2. EANEIHNME L2
110,000& *1JH A %23] 220
HE2IAH (A2AH2S) 568,843 497,992 70,851
el 2 500,317 433,924 66,393
olzeg| 500,317 433,924 66,393
101 @124 dl 482,257 417,724 64,533
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SA A2E
X

HH: HE2AAY (AH2S)
& o 2d|
SA - ZE-B(EA) - NRAY - B S il &t o il
01 2= 482,257 417,724
(22) 325,327
1. 52 (302 8) 3,849,500& x1H x12& 46,194
2. 62(2558) 3,209,200& x2H x 123 77,021
3. 72(1828) 2,626,200& «3H x 123 94,544
4. 8=(588) 1,580,600& x2H «12& 37,935
5. 92358 8) 1,288,200& x2H x12& 30,917
6. Jls8=(2128) 2,487 ,800& x1H x 123 29,854
7. XS 316,465,000& »2.8% 8,862
(M0 =¢) 43,788
1. e33R =+E 5,637
. 52U (3082)
3,357,800 x 1«4 1%+ 122 1,653
L. 6202 (205 2)
2,804,000 x2& 4 1%+ 128 2,760
Ch. JIs72U2(2158)
2,487,800 x 1 +4 1%+ 128 1,224
2. 82=+¢ 325,327,000 *1/12 27,111
3. EZ2=Edt= 11,040
Jb. 25401 & 130,000& »2H 128 3,120
Lb. 2010] &4~2514 0] B
110,000& x4 H 128 5,280
Ct. 1501 &4~20E 018 80,000 »2H «12& 1,920
ct. 1001 &~15E 012t 60,000 1 H 122 720
(HAEE L) 14,248
1. AE==E 7,080
Jb. B 40,0003 *7H =128 3,360
Lt. JIEFDLS 20,0003 x14H +x 123 3,360
Ch. JHAFZ2 (AT RHE 01 &)
30,0003 x1H«123 360
2. HHSHIExSY 7,168
b, DSsHM 448,000 x4H «4 7| 7,168
(E=22=+Y) 11,160
1. JIsd8EsY 20,0003 1 122 240
2. ExARsY 10,920
. s22=¢ 70,0002 x10H «12& 8,400
L. I 30,0003 «2H 128 720
Ch. AlSIEXIE R+ 30,0003 +3H«12& 1,080
ch. AR S X R=EIHd S
30,000 x2H =122 720
(=n=22=+4) 38,041
1. N2 2RE
8,4763 *34Al 2t x11H 128 38,041
(MBI B&S 49,693

_30_




2N
X ZH -
L= B

el

CEE O (BAH) - NRAY - B2 O 4t o8 il
1. BHZAH| 130,000& x11H x12& 17,160
2. HESIHY| 325,327,000 1.2/12 32,533
204 & 2 =S A H| 18,060 16,200 1,860
02 238 X4l 18,060 16,200 1,860
1. A3 EXH| 18,060
b, 532 250,000@ x1H +x12& 3,000
L. 62 155,000& x2H 128 3,720
Ch. 72 140,000 x3H ~12& 5,040
ct. 8-92 105,000& x5 x12& 6,300
| 2 &l 68,526 64,068 4,458
JlE23Hl 68,526 64,068 4,458
201 LBt | 25,986 24,298 1,688
01 At 22l bl 12,581 11,236 1,345
(get==24|) 6,685
1. 2N2g =S| 300,000 11X *80% 2,640
2.0HIZ2SUHAMEES 100,000& ~12& 1,200
3.F:UESESs . =2E2X 27,000 »158F A 405
4 0223HLZIEEFEX 64,000 108 A 640
6.40 HERE EH/EYH
100, 000& *4CH 23] 800
7.2AM EH/Z2ZHSHRE
200,000& *1CH x23] 400
8.2AMNESED EH 100, 000& =20 *23] 400
9.21=)| gle/9d3 20,000& =101 =103 200
(dx2) 960
1.2J13 3| 40,000& =20 x12& 960
(2d4Y) 500
1. 9256 50,000& x1H ~10Y 500
(Z2dl) 4,436
1JI2gR+HE2 S A HI
7,000& x6A! x 112 %122 *80% 4,436
02 2324 13,405 13,062 343
(BZ222LAHA) 8,501
1.2E=2430 2,873
Jb. Bt 2703 1004 x12& 324
L. S9I 1,770& x 12024 12& 2,549
2. 80|12 330,000& 12& 3,960
3. 40t 2 35,000 x12& 420
4. 233N REZ 70,000& *23] 140
5 83 XFH A2 120,000& *13] 120
6.2 RAAQIHUSA 2 30,000& x12& 360
7T HENSEE S 350,000& x1CH*13] 350
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SN aZ2E
BH: #HSAPL (AH2S)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
B.OIEXNEEE= 60,0003 x1CH*12] 60
Q. HEXNSEHIIBAI==Z 25,0003 x1CH*13] 25
10.HEXNHUHS AT L EME
33,0003 *1CH*13] 33
NI EINERES
65,0003 «1CH*23] 130
2. #EXHNS I 30,000 x1CH *13] 30
(A=4l) 1,152
1T AR A 1,800 20 *4A| 2k+80L 1,152
(NEZHI>HKXIHl) 2,702
1.8MAS 1,200, 000& 1,200
2. HZL ST 100,000& = 1CH 100
3.2AMESD 100, 000& »2CH 200
4.2 =] 50,0003 = 1CH 50
5 83=J|I2Hns& 45,0003 *2CH x4 3] 360
6. 2EOIAAE FRAE S
33,0003 «1CH *43] 132
7.XNZAAMAIAE FRNE 5
30,000& 10 +12& 360
8. = AtJI 300,000 1CH 300
(Mg Xzl 1,050
1. USRS 50,000 =1CH 122 600
2. X &l s Xl 150,000 *1CH »33l 450
202 O4dl 30,240 24,960 5,280
01 SLHAYI 7,200 6,480 720
1. =AY 20,0003 =10 x3H «12& 7,200
02 X 23,040 18,480 4,560
1. 2HHH 240,000& «8H + 123 23,040
203 2R E=F | 10,000 9,960 40
01 J22F PR =8| 6,600 6,600 0
1122 gRFEH| 6,600,000 » 14 6,600
02 It =2 400 360 40
1. HRAIMME =TI 40,000& 104 400
04 EANSIHRF=EHI 3,000 3,000 0
1.2M2EYRFLH 250,000 128 3,000
204 AR A H| 1,800 1,800 0
01 ¥R A 1,800 1,800 0
1AM PR 1,800
s 150,000 x1H 128 1,800
405 XHoHF S HI 500 3,050 A 2,550
01 AL EZFH S 500 3,050 A 2,550
1L2HEH(FUER) 250, 0002 »2CH 500
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N = 0l & At & Ml A

SN A2A3E
HE: F0 #HE MO T2 (LHIS)
el FOIME 29 (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AABS 673,031 595,165 77,866
F0 MY Bo TR (4AHA3S) 90,704 92,684 A 1,980
FodEH 29 90,704 92,684 A 1,980
= .8H& XI# 79,420 83,400 A 3,980
301 LA Z 79,420 83,400 A 3,980
058 -2l -Has2E43 79,420 83,400 A 3,980
1.8 +=g¢&E3sH| 78,720
o224 200,000& x24H 12 57,600
L. &d=s 200,000& 24X x23| 9,600
Ch.elo&gag 20,000 x24H »23| x12& 11,520
2.8t 8¢ 25,0003 «14H +23] 700
FOUNXNHMHEZOH 2 5,880 5,880 0
201 Let24d] 5,880 5,880 0
01 At 22l 5,880 5,880 0
(CEES=Yp 1,080
1.2 XX ME2F ] 100, 000& » 12& *90% 1,080
(2g9+¢) 4,800
1. XX MEH 2 A =E 4,800
. oteuwa 25,0003 *8A| 2tx12& 2,400
L. 2Jtna 25,0003 *8Al 2t+12& 2,400
AR 22 5,404 3,404 2,000
307 g1+l & 2,404 2,404 0
05 RIZt2E = 2,404 2,404 0
.oz aelitdss2 182,000 128 2,184
EMEIIHE =2
110,000& =1 A %23] 220
401 AIEHIZL 201 3,000 1,000 2,000
01 A& HI 3,000 1,000 2,000
12X AEHAIO| & 2 DI R TH & &
3,000, 000 1Al 3,000
HE I AU (AAH3S) 582,327 502,481 79,846
o2y 510, 182 441,221 68,961
ol 2AH| 510,182 441,221 68,961
101 144 dl 490,862 424,601 66,261
01 2= 490,862 424,601 66,261
(22) 336,294
1. 52 (302 8) 3,849,500& x1H x12& 46,194
2. 62(2988) 3,332,000& »2H «12& 79,968
3. 72(1028) 2,147, 2003 «3H + 123 77,300
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SN AZHIE
B #HSAP (AH3S)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
4. 82 (118 8) 1,989,200 «3H 123 71,612
5. 92(588) 1,423,000& x2H 123 34,152
6. JIs9=(688) 1,492,300 x1H «12& 17,908
7. MSIMAH 327,134,000& »2.8% 9,160
(&0i==¢) 42,359
1. e33R =+E 3,534
b 42U (3058)
3,849,500 x 18«4 1%+ 122 1,894
Lt. 52 (2958)
3,332,000& x 18«4 1%+ 122 1,640
2. 82=+¢ 336,294,000& *1/12 28,025
3. 2=Eotit=s 10,800
Jb. 25401 & 130,000& x4 H 128 6,240
Lt. 100/ &~15E 012t 60,000 3«12 2,160
Ct. 5E0l&~108 012 50,0003 x4H«12& 2,400
(A=) 6,240
1. &5 6,240
Jb. BHS X 40,000 *7H « 122 3,360
Lt. JIEt 20,0003 x12H «x12& 2,880
(S=22=+Y) 12,120
1. Ex=HRE 12,120
. S22 70,0003 *11H 128 9,240
Lt ALY 30,000 «2H 122 720
Ch. AlRIEXIE R+ 30,0003 +3H«12& 1,080
ch. AR S XY Rx=EIHdS
30,0003 x3H x12& 1,080
(=n22=+4) 41,499
1. N2 2R
8,4763 *34Al 2t 12H 12 41,499
(MHIEAS) 52,350
1. 3z A 130,000 x 12 «12& 18,720
2. BESFIHY| 336,294,000% *1.2/12 33,630
204 AR A H| 19,320 16,620 2,700
02 g2 Xl 19,320 16,620 2,700
1. 828Xt 19,320
. 52 250,000& x1H +123 3,000
Lt. 62 155,000& »2H «12& 3,720
O. 72 140,000& »3H 128 5,040
ct. 8~9= 105,000 x6H »12& 7,560
Jl2Z3dl 72,145 61,260 10,885
JlE&l 72,145 61,260 10,885
201 £B-2dH| 26,225 23,940 2,285
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SN AZHIE
B #HSAP (AH3S)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
01 At 22l ] 13,873 12,243 1,630
(eeta=Hl) 7,574
1.2 2=2H| 300,000 *x12H *80% 2,880
2.0HZYERANERES 100,000& *12& 1,200
3.0 dEH/EH 190, 000& =4l 23] 1,520
4.F0S=ES Z2YIBN 27,0008 #1282 A 324
5.OUBHNLIBELEN
64,000& x108F A 640
6.21=50|2l= 20,000& =101 6 & 120
7.0 150, 000& x 1 %23 300
8. HAEH 60,000& =20 *23] 240
9.2 ANIJIEY 75,000& =20 150
10.5 A 84 200,000& *13] 200
(LX) 960
1. 84J|9XE2 40,0003 20 12 960
(2g94+4) 500
1. 95856 50,000& »1&Ex10 500
(ZHl) 4,839
1oz esssag Al
7,000 x6A1 12 x 128 *80% 4,839
012 3s2g 12,352 11,697 655
(2222 8,665
1.28 =2 2,873
Jp. g 2702 *100H x12& 324
L. S 1,770& x 1202 12& 2,549
2.8 D] 400,000& x12& 4,800
.40t 2 40,000& x12& 480
4. BHANNLARES 60,000& *23] 120
5.9 YA EZ 16,0002 x1CH = 12& 192
6.3 xH A2 150, 000& *13] 150
7. 8J|01EXNHABESH = 50,000& *13] 50
(HA2Hl) 1,392
1.3 9 1,450 %24 *6A| 280 1,392
(A& =Y 2,295
1.3 AM 3,362 447 m 1,503
2.8 150, 000& *1CH 150
3.2 Ak 100, 000& ~1CH 100
4, 2% | 50,000& 1 CH 50
5.209l N
33,000& = 10H *4 3] 132
6. X = N 30,000& x12& 360
202 04d| 33,120 24,960 8,160
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N = 0l & At & Ml A

SN A4S
HE: 30 #HE MO T2 (LHLS)
& FUHAH2S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A4S 632,253 563,255 68,998
F0 MY BOo SR (4AHA4E) 91,964 90, 166 1,798
FRoHEH2H 91,964 90, 166 1,798
= .8H& XI# 69,530 70,230 A700
301 LA Z 69,530 70,230 A700
058 -2l -Has2E43 69,530 70,230 A 700
1. 282 L a sl 68,880
o224 200,000& x21H x 123 50,400
L. &d=s 200,000& 21X »23| 8,400
Ch.elo&gag 20,000 x21H »23| x12& 10,080
2.8t 8¢ 25,0003 «13H +23] 650
FOUXXHH T2 29 18,096 15,696 2,400
201 Let24d] 18,096 15,696 2,400
01 At 22l 18,096 15,696 2,400
(CEES=Yp 1,296
1.2 XX ME2F ] 120,000 * 12& *90% 1,296
(2g9+¢) 16,800
1. XX MEH 2 A =E 16,800
I MOl 1w A 25,0003 *8A| 2tx12& 2,400
Lh.RHA AT 25,0003 *8Al 2t+12& 2,400
ot 25,0003 *8A| 2tx12& 2,400
et.Z2& O0I2X S=20ua(x==8)
25,0003 +8Al 2t 12 2,400
0. ZE 0I2X S=20na(s=8)
25,0003 *8Al 2t+12& 2,400
bt. el = 25,0003 *8Al 2t+122 2,400
A2 It 25,0003 *8Al 2tx12& 2,400
At R 22l 4,338 4,240 98
307 21201 A 4,338 4,240 98
05 RIZt2IEt = 4,338 4,240 98
1.2o3d el 226,500 128 2,718
= PNFSIDIRCIFSHN R= Ry
210,000& * 10 2 +23] 420
.agEZAC U2 100,000& 128 1,200
HY I B (M2HL4S) 540,289 473,089 67,200
ol 2 gl 470,918 411,131 59,787
ol 2A| 470,918 411,131 59,787
101 @144 Hl 453,698 395,351 58,347
01 2= 453,698 395,351 58,347
(22) 317,471
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SN A4S
BH: #HSAPY (M H4S)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
1. 53 (302 8) 3,849,500& x1H x 123 46,194
2. 6=(2333) 3,132, 7003 x2H x12& 75,185
3. 72(1888) 2,626,200 x4 H «12& 126,058
4. 82 (198 8) 2,404 ,800& x1H x12& 28,858
5. 98 (4s8) 1,355,300& x2H 12 32,528
6. XMSIHAH 308,823,000& »2.8% 8,648
(40 +¢) 36,296
1. 82+% 317,471,000& *1/12 26,456
2. E2=YIHe3 9,840
Jb. 25E 01 & 130,000& »2H 122 3,120
Lt. 20\ 0l &~251 0] 2t
110,000& »2H 122 2,640
Ct. 1501 &~204 012t 80,000 «3H =128 2,880
ct. 550/ &~108 012 50,000 «2H 122 1,200
OHHEE=~¢) 7,920
1. IE5=¢ 7,920
Jb. BH A 40,0003 «8H «12& 3,840
Lt. JIEFDLS 20,0003 x17H x12& 4,080
(S22249) 10,080
1.54¢z24y 10,080
t.s22+E 70,0003 «9H «12& 7,560
Lt QAR R 30,000& x3H x12& 1,080
AR SRS R+ 30,0003 «2H 122 720
ch A 2 XY R E
30,0003 «2H 122 720
(=224 34,583
I ANR2RLY
8,476% *34 Al 2t x10H 128 34,583
(AMBBA&S) 47,348
1. §HZ Al 130,000& x10H »12& 15,600
2. BEFOtYI 317,471,000& *1.2/12 31,748
204 MR AH| 17,220 15,780 1,440
02 22 =4 17,220 15,780 1,440
1. 2882t 17,220
Jt. 53 250,000& x1H x12& 3,000
L .62 155,000& »2H 128 3,720
o. 72 140,000& x4 H 128 6,720
ct. 8~9= 105,000& »3H 122 3,780
Jl2&dl 69,371 61,958 7,413
JlE2&l 69,371 61,958 7,413
201 Let24E] 29,011 27,078 1,933
01 At 22l 8l 12,511 11,198 1,313
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SN A4S
BH: #HSAPY (M H4S)
erel: Jl= 2| (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
(der==24|) 7,067
1. 2NSH=SH| 300,000 x10H *80% 2,400
2.0HZE2ANREE 100,000& = 12& 1,200
3.Z228H EY 200, 000& *4CH *33] 2,400
4057|122 20,0002 x1CH+8& 160
5. F0NESES x2€2EX 27,000& *17box 459
p.oAdsHNEZIEELEN 64,000& *x7box 448
(YX2) 912
1.83J/53 3D 38,000& 2 x12& 912
(2d4Y) 500
1.2=a 50,0003 *1Hx10 500
(S&d]) 4,032
1JI2gR+HEZ S A HI
7,000& *6A x 10 12 *80% 4,032
02 352494l 16,500 15,880 620
(BZZ222LHA) 14,412
1.28= 2,416
Jb. 8t 270 x90H x 128 292
L. S0 1,770& x10021 x12& 2,124
2. 80|12 910,000& 12& 10,920
3. 46t = 120,000 6 720
4. 8 XdH AT 191,000& *13] 191
5883882 60,000& *23] 120
6.0 EXSI HAEH 45,000& *13] 45
(Al ZHI KXYl 2,088
1.2ANHAE 600,000& *1JH A 600
2. HH S EH| 100, 000& =2LH 200
3.2 AT ST 100, 000& ~1CH 100
4. 428012 H 29,000& 20 x12& 696
5. 20 &0 A|AE R X 2 £H|
33,000 «10CH *4 3] 132
6. X2 AAIAE X224
30,0003 *1CHx12& 360
202 04d| 27,360 22,320 5,040
01 2L Y] 7,200 6,480 720
1.2l 20,000& 10 3P x 128 7,200
02 2 40| 20,160 15,840 4,320
1.2 ¥ 240,000& x7H x12& 20,160
203 & R =&H| 10,000 9,960 40
01 J|22H L RF=AH| 6,600 6,600 0
1229 28| 6,600,000& 1 6,600
02 HRIIMYREAY| 400 360 40
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N = 0l & At & Ml A

SM: =E1S
M =0l #F MO TR(2E1S)
Sl FRIMESY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=E81s 551,184 498,205 52,979
F0 MY Ho STR(SE1S) 61,150 65,926 A4, 776
FRoHEH2H 61,150 65,926 A4, 776
= .8H& XI# 52,930 57,910 A 4,980
301 LA Z 52,930 57,910 A 4,980
058 -2l -Has2E43 52,930 57,910 A 4,980
1.8 +=g¢&E3sH| 52,480
o224 200,000& x16H 12 38,400
L. &d=s 200,000& 16X »23| 6,400
Ch.elo&gag 20,000 x16H »23| «12& 7,680
2.8t 8¢ 25,0003 x9H +23] 450
FOUXXHH T2 29 5,880 5,880 0
201 LBt | 5,880 5,880 0
01 At 22l 5,880 5,880 0
(ger=&dl) 1,080
1.2 XX ME2F ] 100, 000& » 12& *90% 1,080
(2g9+¢) 4,800
1. XX MEH 2 A =E 4,800
I MOl 1w A 25,0003 *8A| 2tx12& 2,400
L. &ADA 25,0003 *8Al 2t+12& 2,400
AR 22 2,340 2,136 204
307 g1+l & 2,340 2,136 204
05 RIZt2E = 2,340 2,136 204
.oz aelitdss2 170,000 128 2,040
EMEIIHE =2
150,000& =1 A %23] 300
HBHSAAY (ZE1S) 490,034 432,279 57,755
el 2l 422,711 371,676 51,035
ol 2AH| 422,711 371,676 51,035
101 @124 dl 406,091 356,316 49,775
01 2= 406,091 356,316 49,775
(22) 274,841
1. 52 (302 8) 3,849,500& x1H x12& 46,194
2. 62(2383) 3,132, 7003 x1H x 123 37,593
3. 72(1288) 2,283,200& x4H x12& 109,594
4. 82 (78 8) 1,726,900& »2H «12& 41,446
5. 9248 8) 1,355,300& x2H x 123 32,528
6. XM<IMAb 267,355,000& *2.8% 7,486
(840 +¢) 31,878




SH: =2E1S
H: HM2AAH (BEE1S)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
1. i3 Y 1,894
b, 42U 2 (305 2)
3,849,500 x1H x4 1%*12& 1,894
2. 324 274,841,000 *x1/12 22,904
3. 324 otaza 7,080
JF. 254 0] &t 130,000& x2H +12& 3,120
Lt. 20 0| Ab~25E 0] B¢
110,000 *1H x12& 1,320
Ch. 1080l &~15E 012t  60,000& »2H x12& 1,440
2k, 58 0| A ~10E 0] BF 50,0003 x2H «12& 1,200
(JHAHBEE=E) 11,264
1. x5 7,680
Jb. B X 40,0003 x7H x12& 3,360
Lt. JIEDS 20,000& *15H ~12& 3,600
Ct. MITHOIAH(2011.12.31.0| 8= M)
30,000& x2H x12& 720
2. MEHEHEXSH 3,584
I, DSk 448,000 x2H 4| 3,584
(S222+9) 10,440
I Sax2sg 10,440
o, s224 70,0003 9 x12& 7,560
L, DIgRsY 30,000& x2H 128 720
Ct. A =XE2sY 30,0003 *3H x12& 1,080
ch. Al EXE24EIHa2
30,0003 *3H x12& 1,080
(=222 34,583
IINEEERS=
8,476 x34 A 2t x10H x 128 34,583
(AlH2aS) 43,085
1. dHZAH| 130,000& x10H x12& 15,600
2. Y& S0HY| 274,841,000& *1.2/12 27,485
204 = 2 4= A H| 16,620 15,360 1,260
EEEES 16,620 15,360 1,260
=Rt 16,620
ob. 53 250,000& x1H x12& 3,000
L. 63 155,000& x1H ~12& 1,860
Ct. 73 140,000& x4 128 6,720
cl. 8~932 105,000& *4H x12& 5,040
Jl2& bl 67,323 60,603 6,720
Jl2&l 67,323 60,603 6,720
201 Bt A H| 27,723 26,083 1,640
01 AL 22l 12,670 11,611 1,059
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2H: =2E1E
H: HM2AAH (BEE1S)
erel: Jl= 2| (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
(der==24|) 8,138
1. 2NSH=SH| 300,000 x10H *80% 2,400
2.0HZE2ANREE 100,000& = 12& 1,200
3.e1=50|2 = 20,000& =101 ~6& 120
401571243 100, 000& x 13 100
F,.EZIHEYH 130,000& *103] 1,300
6.ZEHEH 130, 000& x93 1,170
7.0UdSENESEFERXN 64,000 6 A 384
8.FRUESES =222 E2X 27,000& 128 A 324
9.5 AJIEH 90,000& *43] 360
10.2AMESESINEYH 60,000& *33] 180
11.2SAFE X 20,000& =30 A 600
(2d2Y) 500
1. 95856 50,000& »1&Ex10 500
(S2l) 4,032
1olzgesssagay
7,000& x6A x 10 122 *80% 4,032
02 3524l 15,053 14,472 581
(ZZ22YLHA) 9,514
1.28Z 2,384
Jb. 8t 2703 x80H x 128 260
L. S9I 1,770& x10024 12& 2,124
2. 80|12 430,000& x12& 5,160
3.4 ot & 60,000 x12& 720
4. BHANERES 90,000& *23] 180
5.9 YA EZ 15,000& *2CH x12& 360
6.83XHAZ 130, 000& *13] 130
7.F0XNXNEEHMSANEE G AMABSE S
150, 000& *13] 150
B.MASFTUZSSSIHAAIIIEHA
70,000& 100 A x13] 70
9. MASF0BSSHE A 22|
30,000 1 A x12& 360
(=24l) 2,657
1.AFR A A Z b 1,416.92& x50 *5A| 2kx75L 2,657
(Al ZHI S Xdl) 2,882
1.8AA2 1,700,000 1,700
2. 8D EH 90,000 = 1CH *x23] 180
KR =a=1] 90, 000& *3CH 270
4 22 (22=D])S X8l 40,0003 = 1CH 40
5. 20 &0 AlAE R X2 4=H 33,000& 43| 132
6. KNS AAIAEI S XS H| 30,000 x12& 360
7.2 AHD| 200,000& = 1CH 200
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SN =81S
M HH2ILH(2E1S)
& 123l (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
202 04l 27,840 22,800 5,040
01 SLHOYI 4,800 4,320 480
1.2 W0l 20,000 x10L »2H «12& 4,800
02 M0 23,040 18,480 4,560
1.0 240,000& x8H «12& 23,040
203 YR =&l 9,960 9,920 40
01 122 =4 6,600 6,600 0
11222 F8 6,600,000& =14 6,600
02 It S =AY 360 320 40
1.2t R =TI 40,000& »9H 360
04 RFN2ELRZTH| 3,000 3,000 0
1L.2EAS2ZYRFL 250,000 122 3,000
204 MR FH| 1,800 1,800 0
NEEEEEESEL 1,800 1,800 0
1LEMZY2FT Y| 1,800
ts& 150,000 x1H «12& 1,800
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== A
N & o & AF & H Al A
SN =E2s
Hu: FOMHBOCQ(SH2E)
ool FoMEHSY EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
=828 824,558 798,920 25,638
FOUMINEYTR (5E25) 137,466 139,966 A 2,500
FRoHEH2H 137,466 139,966 A 2,500
= . BHE XA 119,330 120,630 21,300
301 L2 A Z 119,330 120,630 21,300
05 -2l -tEEsEaE 119,330 120,630 21,300
1. 282 L a sl 118,080
FrolE=g 200,000& x36H 12 86,400
L. &0 3 200,000& +36H »23| 14,400
Ch.elo&gag 20,0003 *36H x23| x12& 17,280
2.9 & 25,0003 x25% »23| 1,250
FOUXXHMEIZZ NS 2 15,696 16,896 21,200
201 Let24d] 15,696 15,696 0
01 At 22l 15,696 15,696 0
(Ler2=2dl) 1,296
1. FUNXHEHS S 120,000 * 12& *90% 1,296
(2g9+¢) 14,400
1. FUXNXAEH ZAt=E 14,400
JPAEZXHA(E) 25,0003 *8A| 2tx12& 2,400
LhAZXUHA(S) 25,0003 *8Al 2t 128 2,400
ChAZXAHA(D) 25,0003 *8A| 2tx12& 2,400
ct.oteual 25,0003 *8Al 2t 128 2,400
O JISH = 25,0003 *8A| 2tx12& 2,400
.8 =204 25,0003 *8Al 2t 12& 2,400
AN 22 2,440 2,440 0
307 glz2+ol & 2,440 2,440 0
05 RIZHRI & 3 2,440 2,440 0
1. o3 UHE>== 185,000& 128 2,220
2. NI 2
110,000 *1JH 2 %23 220
HY2IHH (BE28) 687,092 658,954 28,138
ol 2 gl 605,691 585,559 20,132
ol 2A| 605,691 585,559 20,132
101 144 dl 583,851 564,559 19,292
01 2 583,851 564,559 19,292
(22) 407,943
1. 52 (302 8) 3,849,500& x1H + 123 46,194
2. 62(2958) 3,332,000& x2H x12& 79,968
3. 72(1828) 2,673,900& «5H x 123 160,434
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SN =Es
H: HMN2AHH (B2S)
chel: ol gyl CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
4. 82 (62 8) 1,653,500&3 x2H ~12& 39,684
5. 92 (b5 &) 1,423,000& x2H 128 34,152
6. Jls72(2952) 3,033,200& x 1 x12& 36,399
7. qRIMAHI 396,831,000& *2.8% 11,112
(A0+¢) 50,790
1. s Y 3,114
b 52UR (265 E)
3,244, 4003 x1H x4 1%*12& 1,597
Lh.e2UR(3158)
3,081,400 *1H x4 1%*12& 1,517
2. 32s¢ 407,943,000 x1/12 33,996
3. A2 2 13,680
Jb. 254 0] & 130, 000& x5 x12& 7,800
Lt. 204 Ol &~25E O] Bt
110,000& 2 128 2,640
Ct. 1090l &4~15E 018t 60,0003 x2H x12& 1,440
ct. 5 0l A ~10H 0] Bt 50,0003 »3H x12& 1,800
(DHHEE ) 11,504
1. Exx< 7,920
Jb. B X 40,0003 «9H =128 4,320
Lt. JIEDIE 20,000& *15H x12& 3,600
2. AHEHEHIBXLE 3,584
b, DS&kM 448, 0003 x2H 4| 3,584
(S4222Y) 12,600
1. SExd2Y 12,600
h.s22+Y 70,0003 x12H x12& 10,080
LI Ol RY 30,0003 *x3H x12& 1,080
CH A S X g2 30,000& x2H x12& 720
A SXNYRYIHAZ
30,000 x2H x12& 720
(Z222Y) 41,499
1. N2HI224¢
8,476 x34A| 2t x 12 x 128 41,499
(MHIEAS) 59,515
1. 3HZAH| 130,000 »12H x12& 18,720
2. YEF Ot 407,943,000& *1.2/12 40,795
204 X243 A Y| 21,840 21,000 840
02 &z 8 X4 21,840 21,000 840
1. A3 XH| 21,840
Jt. 53 250,000& x1H +x12& 3,000
L. 63 155,000& 2 x12& 3,720
Ct. 72 140,000 *»6H x12& 10,080
ck. 8~92 105,000& x4 123 5,040
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SN =Es
B #SAPY (SH2S)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
Jl=23 bl 81,401 73,395 8,006
JlE23Hl 81,401 73,395 8,006
201 Bt A | 30,901 30,505 396
01 AFR 22l ] 15,165 13,872 1,293
(eta24|) 9,423
1. 28298 300,000& *13H *80% 3,120
2.0HZERAMNRES 100,000& ~12& 1,200
.0 AEZSEHEH 150, 000& *53] 750
4. 40l ESHEH 200,000& *53] 1,000
5 0UASHMNLUZIELEN(AXTLXNE)
64,000 »128F A 768
6.FUSESsT2EAX 27 ,000& *x258F A 675
7.01=50|2 =2 16,000& x3JH 6 & 288
8.015J|E22H/¥3 96,000& *23] 192
9.2NMNESED EYH 80,0003 1CH*x1EF A %33 240
10.2 A EUYH 260,000 x 10+ 18 A %23 520
11.2AE X 20,0003 =128t A 240
12. 85D 2l €| 35,800& =1 ~12& 430
(2d42Y) 500
1.2 =& 50,000& x1H x10 500
(S=4l) 5,242
1JI2gR+HEZ S A HI
7,000 *6A x 13K 12 *80% 5,242
02 352494l 15,736 16,633 N 897
(BZZ2L22LHA) 11,278
1.28= 4,734
JF. LBt 270 15021 x 128 486
LH. S0 1,770 20021 x12& 4,248
2. 80|12 470,000 x12& 5,640
.40t & 45,000 x12& 540
4. 2A3NHRE S 51,000& *23] 102
5838 xdAae4r2 53,000& *23] 106
6.HOISTVAIE S 7,000 x12& 84
7.001EX B2 72,0003 *1CHx13] 72
(A2dl) 1,966
1.AFR A 1,170& 42| B *6A| 2+ 70 1,966
(AIE ZHI 2 XIH]) 2,492
1.8AH2 1,500,000 1,500
2.2 AT ST 70,000 «2CH 140
3. 8=x=J|s X 22l 45,0003 =201 *23] 180
4. 0|2 X £=clt| 45,000 = 1CH x4 3 180
5. 2S00 Al AR X2 4=H] 33,000& 43| 132
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N & 0l & At

g Al

2A: HESsS
M F0 ¥F HO T2 (HES
Sl ZOIMEH 2Y (er:@e)
SN FH-SA(EN) - MBAY - BES & HlnE2
] 742,500 731,136 11,364
F0 Y Ho TR2(UEEs 119,616 125,962 A6,346
glegy 24 119,616 125,962 A6,346
= ,8HE XI& 104,180 105, 180 A 1,000
301 LA Z 104,180 105, 180 A 1,000
05S-cl-egHss 104,180 105,180 A 1,000
1.8 +=2LES 101,680
o224 200,000& x31H x 12 74,400
L. &d=s 200,000& *31H »23| 12,400
Ct.8l o &&= 20,000 *31H »23| x12& 14,880
2.8t 8¢ 25,0003 «50H #23] 2,500
FOUXXHH T2 13,296 13,296 0
201 Let24d] 13,296 13,296 0
01 At 22l 13,296 13,296 0
(CEES=Yp 1,296
1. =X M E 120,000 * 12& *90% 1,296
(2g9+¢) 12,000
1. =X Al E b= 12,000
b HAAL 25,0003 +8Al 2t+12& 2,400
L. 220l 25,0003 *8Al 2t+12& 2,400
C.RJtwa 25,0003 *8Al 2t 12 2,400
ct.ot2 L3t 25,0003 *8Al 2t 122 2,400
Or.=sls 25,0003 +8Al 2t+12& 2,400
At R 2tel 2,140 2,140 0
307 21201 A 2,140 2,140 0
05 RIZt2IEt = 2,140 2,140 0
.23 2l = 160,000 »12& 1,920
2.BANEIIHAET =
110,000 »1JH A& %23 220
HY2IZH (S S) 622,884 605,174 17,710
A2 I 544,380 533,332 11,048
ol 2| 544,380 533,332 11,048
101 @124l 523,380 513,592 9,788
01 2= 523,380 513,592 9,788
(82) 355,715
1.532(30&8) 3,849,500 x1H «12& 46,194
2.62(2358) 3,132, 7003 x2H x 123 75,185
.72 (11ss) 2,215,800& x4 H «12& 106,359
4.8 (58 8) 1,580,600& «3H x 123 56,902
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SN UES
M HH2IZH(HES)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
5.01s82(1988) 2,404, 8003 x1H x123 28,858
6.92(438) 1,355,300 x2H x12& 32,528
6. X <& HI 346,026,000& *2. 8% 9,689
(M40¢) 43,712
1. USRS 3,869
b5t R(2458)
3,171,900 »1H +4 1%+ 12 1,561
Ll.esU*(128s)
2,283,200 x1H +4 1%+ 12 1,124
Ct.oIs72U* (195 8)
2,404,800 x1H «4 1%+ 122 1,184
2. 324 355,715,000& *1/12 29,643
3.8 2=EoH 3 10,200
Jb.25E 0] & 130,000& x3H 122 4,680
Lt.205 0l &~25E 012k 110,000 1 =128 1,320
Ct. 15501 &~209 012 80,0003 1 122 960
ch. 108 0l & ~15 012t 60,0003 »2H «12& 1,440
Ot.5E 0l &~10 O 2t 50,0003 «3H x122 1,800
(OtARAY) 10,184
1.0t15=¢ 6,600
Ot B At 40,0003 «7H 128 3,360
Lt . JIEFDLS 20,0003 x12H x12& 2,880
Ch.OHAFZ2 (A TH XELE O] &)
30,000 x1H «12& 360
2. MHHEHEEE 3,584
Jb.DSstM 448,000 x2H *4 0| 3,584
(E=22=+Y) 12,960
1.S4+2Q4y 12,960
t.s22+4 70,0003 12 128 10,080
L. ogese 30,0003 x3H x12& 1,080
Ct AL =R 22 30,000 x3H «12& 1,080
et ASI S XY RIS
30,000 x2H «12& 720
(=n=2224Y) 44,957
1A 22 Y 8,4763 #34A| 2Hx13H 123 44,957
(AHIBAS) 55,852
1.8 M Z Al 130,000 x13H »12& 20,280
2. B E F 0t 355,715,000& *1.2/12 35,572
204 M= F | 21,000 1,260
02 A2 2l 21,000 1,260
1.8 g 2=t 21,000
t.52 250,000& x1H x123 3,000
Lt.62 155,000& »2H 128 3,720
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2N s
M. MSAHH(HES)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Ch.72 140,000& x4« 12& 6,720
ct.8~9= 105,000& x6H ~12& 7,560
Jl=23tl 78,504 71,842 6,662
Jl23Hl 78,504 71,842 6,662
201 Bt 30,624 29,722 902
01 At 22l bl 14,662 12,891 1,771
(eta==24|) 8,200
1. 2529 H| 300,000& *13H *80% 3,120
2.0HZ2ER2AMNRES 100,000& ~12& 1,200
.40 HEH/EH 200, 000& *x5CH *23] 2,000
4 TAE 88,000 =10 4 3] 352
5.FUSES, 22432 EX 27,0003 x202 A 540
6.00USTENLEZSESEX 64,000 *128F A 768
7.0l 20,000 «10H ~6& 120
8.2ZD|UT(E,HM) 25,000 *2Jl 23] 100
(dxt=2) 720
1.9, 28] dXs 60,000& *1CHx12& 720
(2gag) 500
1. 92856 50,000& x1H +10 500
(Z22Hdl) 5,242
1olEgesssag Ay
7,000 x6A1 x 13 x 128 *80% 5,242
02 352t 15,962 16,831 N\ 869
(2222 % HA) 13,648
1.28H2 4,583
Jl. Bt 270& *300H x12& 972
L. S9I 1, 7703 x1702 x12& 3,611
2.80|2 7,800
JF. =01 HEH 620,000& x12& 7,440
L. ZH&ED(F H1ZE2E) 30,0008 x12& 360
3. 4G AIESE 64,000 x12& 768
4 BN EELS 70,000& *23] 140
5.9 YA EZ 29,7003 *1CHx12& 357
(Al ZHI KX Hl) 2,314
1.2ANHAE 1,000, 000& 1,000
2.2 ANESED] 180, 000& *1CH 180
3.H 2FL)| A2
35,000& = 1CH*12& 420
4. 27| 45,000& =2CH 90
5. 20 E0IA|AE R X2 4=H
33,000 x20H x4 3 264




2N
X ZH -
L= B

el

=

i
2m

30,000 ~1CH~12& 360
04l 36,000 30,240 5,760
=LH O Hi 7,200 6,480 720
.20 20,0002 «10L «3H «12& 7,200
ERACH] 28,800 23,760 5,040
1.0 240,000& 108 »12& 28,800
A2 =4I 10,080 10,080 0
22 Y 2= 6,600 6,600 0
1022 R=8H| 6,600,000 «1& 6,600
FRIMML R = 480 480 0
1.2t H R | 40,0003 x12H 480
EAN2ES S22 3,000 3,000 0
1LREA2ZLR=AH| 250,000 »12& 3,000
et FH| 1,800 1,800 0
A PR+ AH 1,800 1,800 0
LAMSHE 2= 1,800
h.sF 150,000& x1& x 122 1,800
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2N
X ZH -
L= B

el

£ 0l & A

o,
=

&

o

Al A

Off &t 24

=

i
2m

543,758

556,562

A 12,804

60,864

77,504

A 16,640

60,864

77,504

A 16,640

54,980

56,480

A 1,500

54,980

56,480

21,500

20,000 «16H 23| x 128

200,000& x16H »12&
200,000& 162 23|

25,0003 *50H »22

54,980
52,480
38,400
6,400
7,680
2,500

56,480

A 1,500

3,480

18,620

A 15,140

3,480

4,020

A 540

100,000& = 12& «90%

25,0003 *8Al 2t+12&

3,480
1,080
1,080
2,400
2,400
2,400

4,020

A 540

2,404

2,404

2,404

2,404

182,000& »12&

10,0003 *1JH 2 %23

2,404
2,184

220

2,404

02

482,894

479,058

3,836

416,907

419,697

A2,790

416,907

419,697

A2,790

400,707

404,757

A 4,050

I S e
© o ~N o o [
oW W oo —
IS
foi

ot

2
9

—

0>

—_

0

TEEE
fol fol
WM 4 oor o

—_ —

N
o 8
>
=3

0:

ru
1
o

3,768,100& »1E »12&
3,171,900 x1¥ «12&
2,626,200 »3&H x12&
1,580,600& «3H «12&
1,355,300& «2F «12&

267,255,000& *2.8%

274,739,000& *1/12

400,707
274,739
45,218
38,063
94,544
56,902
32,528
7,484
30,695
22,895

404,757

A 4,050
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SN Pes
B AR (ADS)
¢ o2 ?EA)
SN FHE - B(SA) - MEAY - BHES il 2
2. 82==Ett= 7,800
Jb.2548 01 & 130,000& x3H 128 4,680
Lt.20E O & ~25 0] ¢
110,000 x1H 128 1,320
Ct.540/&~10=0/2 50,000 *3H x12& 1,800
(OtARAE) 8,616
1.5 3,240
Jb. BH Xt 40,0003 «4H 122 1,920
LE.JIEDES 20,000 «4H x12& 960
Ch.OHAFZ2 (A TH XEL O] &)
30,0003 x1H x12& 360
2.AEHEH XY 5,376
b DSt 448,000 x3Y *4 7| 5,376
(E=22+Y) 9,000
1.5 9,000
D =] 70,0002 *9H 122 7,560
Loy 30,0003 x2H x12& 720
Ch AL =RIg 22 30,000 x1H «12& 360
AR SRS R Z
30,000 x1H 123 360
(=224 34,583
1A 22 Y 8,4763 #34AI 2t 10H 123 34,583
(AMHEAS) 43,074
1.8 M ZAlH| 130,000 x10H 128 15,600
2. S E F Il 274,739,000& x1.2/12 27,474
204 MR=HAH| 16,200 14,940 1,260
02 252 Xl 16,200 14,940 1,260
1.8 g2xt| 16,200
ot.52 250,000& x1H x123 3,000
Lt.6= 155,000& x1H 128 1,860
Ct.7= 140,000 x3H 123 5,040
ct.8~92 105,000 x5 »12& 6,300
2l 65,987 59,361 6,626
=3l 65,987 59,361 6,626
201 Let24d] 25,747 24,301 1,446
01 At 22/l 11,651 10,316 1,335
CEES=Yp 7,119
1. 24A2E =2l 300,000& *10H x80% 2,400
2.0HZHRANRES 100,000& *x12& 1,200
3.AdlOldEZRIHI EW/EE
200,000& «3CH*33] 1,800
4.2AMNESEI EYH 150,000 *1CH »33] 450
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SN Pes
H: HH2IAH(FHS)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
5.%0lS= S - z22=84
27,0003 x15B0X 405
6.Z28H X SMAEX 20,0003 »12B0OX 240
7.0LESENLEEEFEN 64,0002 *6B0OX 384
g.elsJlel =z 20,0003 201 x6 & 240
(2g=¢) 500
1.8 4 50,0002 *1H x102 500
(Sl 4,032
1olzgesssag Ay
7,000 «64! x10H « 12 *80% 4,032
02 =224l 14,096 13,985 111
(B223 % HMA) 9,792
1.282 2,172
Jb. et 2703 x80AH 123 260
Lh. &SI 1,770& x90 4 128 1,912
2. 8012 400,000 x12& 4,800
3.40t+ER= 170,000 128 2,040
4. B3EMERE S 150,000& »23] 300
5.0 HYAIEZ 15,000 128 180
6.0EXHEER 100,000 +2CH *13] 200
7T HEALHY MABES
100,000& * 170 A %13l 100
(A=dl) 2,160
1T AR A 1,800& %44 *5A| 2t+60L 2,160
(Al & Hl = Xdl) 2,144
1.8 AMAd =R XU 700,000 700
2. 01 X=X ¥ &MU 200,000& = 1CH 200
3.8=J] =X 2cldl 21,0003 «1CH+122 252
4. HLEE | X222l 100,000 *5CH * 12 500
5. 2 E0AAE KA E 2=l 33,000& *43] 132
6. AZAAMAAE KRR EH 30,000 128 360
202 Oddl 27,840 22,800 5,040
01 = LH 4 Hi 4,800 4,320 480
1.2 Yl 20,000 «10 x2H «12& 4,800
02 FHOHI 23,040 18,480 4,560
1. 8HH 240,000& «8H x 123 23,040
203 YR =&l 10,000 9,960 40
01 /22 R =4 6,600 6,600 0
1122 RFEH| 6,600,000 » 14 6,600
02 et =& 400 360 40
1. ERAIMME R F=EH] 40,000& 10 400
04 RENSELRZ=LH 3,000 3,000 0
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N = 0l & At & Ml A

AN SHXIOS
M 30 #E MO TQ(REEO0E)
Sl FRIMESY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEHEZOFS 886,716 884,887 1,829
F0 MY BHO SR(REHE0FS) 168,420 173,620 25,200
FRoHEH2H 168,420 173,620 25,200
SUEIA 137,760 140,360 A 2,600
301 LA Z 137,760 140,360 A 2,600
058 -2l -Has2E43 137,760 140, 360 A 2,600
1.8 +=g¢&E3sH| 137,760
o224 200,000& x42H 12 100,800
L. &d=s 200,000& *42H x23| 16,800
C.go+¢ 20,000 x42H »23| x12& 20,160
FURMXNAEgEZ OS2 S 25,620 28,020 A 2,400
201 -4l 25,620 28,020 A 2,400
01 At 22l 25,620 28,020 A 2,400
(dBr2=EHl) 1,620
1.F8XXEEH2E 150,000 » 12 »90% 1,620
(2e+¢) 24,000
2. FCUXXEEHZ A= 24,000
Jb.&t& M 0ll 25,0003 *8Al 2t 128 2,400
Lh.==XI& 25,0003 +8Al 2t+12& 2,400
ot 25,0003 *8Al 2t+12& 2,400
ot AZTHA 25,0003 *8Al 2t 12 2,400
0. RJtw A 25,0003 *8Al 2t 122 2,400
H.2=sun4d 25,0003 *8A| 2tx12& 2,400
A-1. 820 DA (=2)
25,0003 +8Al 2t 12 2,400
A2 820 RA(E2)
25,0003 +8Al 2t 12 2,400
Oh.=2=203 3t 25,0003 *8Al 2t 12& 2,400
A.otel bt ma 25,000 *8Al 2tx 123 2,400
FANRX 22 5,040 5,240 A 200
307 21201 A 5,040 5,240 A 200
05 RIZt2IE = 5,040 5,240 A 200
.20 el
190,000 204 A +12& 4,560
EMEIIE A ==2
120, 000& *2H 2 %23 480
HY 2L (REHZO0S) 718,296 711,267 7,029
ol 2 gl 612,912 618,359 N5,447
ol 2AH| 612,912 618,359 N5,447
101 @144 dl 588,972 595,259 NB,287
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2N
X ZH -
L= B

el

ro o2 4
oA @

M0 MO FA

02 02 R

0 O

=5

S HB B (SH) - NRAMY - BAS O 4t o8 il
01 E4 588,972 595,259
(22) 402,183
1.52 (305 8) 3,849,500 x 1 x12& 46,194
2.6 (295 =2) 3,332,000& »2H x12& 79,968
3.72(1358) 2,347,200 x5 x12& 140,832
4.83 (b2 =) 1,580,600& x5H »12& 94,836
593 (28 &) 1,224,900 »2H 128 29,398
6. XM &l 391,228,000 *2.8% 10,955
(M=) 44,792
1. UsRAY 1,676
52UR(32es)
3,404,500 x1H x4 1%*12& 1,676
2.82x4 402,183,000& *x1/12 33,516
3. 32 Eo2 9,600
254 0 & 130,000 x2H +12& 3,120
Lt.208 0] &~25E 012 110,000& »2H x12& 2,640
10E 0 & ~15 0] B 60,000& »2H x12& 1,440
OF.5% 0] & ~10E O] 8+ 50,0003 x4 x12& 2,400
(DHAHEBEE=E) 11,144
1.052Y 7,560
CHH S Xt 40,000 x8H x 12& 3,840
LF.JIEHFE 20,000& *14H 128 3,360
CH.OFAF S (AT RHLE O] AF)
30,0003 *1H x12& 360
2. XEsHH = 3,584
It D SsHM 448,000 x2H 4| 3,584
(Ex222Y) 15,360
1.E5Ex82Y 15,360
SofY 70,0003 x14H x12& 11,760
L. Ol 30,000& x5H 128 1,800
AR SX GRS 30,000& »3H x12& 1,080
MBI EXNERSEHAZ
30,0003 x2H x 128 720
(2222 51,874
1.A2ER 22 S 8,476& x34A| 2tx15H + 128 51,874
(M-I E2AS) 63,619
1. dHZAH| 130,000& x15H x12& 23,400
2. YESIHY| 402,183,000 x1.2/12 40,219
204 = 2 4= A H| 23,940 23,100
02 238 X4l 23,940 23,100
1. 8382 X4 23,940
ot.52 250,000@ x1H x12& 3,000
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2N
X ZH -
L= B

el

ro o2 4

FELIE=
HEe AL (PHEOS)
=2l

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Lt.62 155,000& x2H +12& 3,720
Ch.72 140,000& x5« 12& 8,400
ct.8-92 105,000& 7Y x12& 8,820
| &2Z&Hl 105,384 92,908 12,476
Jl2&Hl 105,384 92,908 12,476
201 Bt A H| 46,294 42,958 3,336
01 AR 22l ] 19,124 17,320 1,804
(ger=249dl|) 11,136
1. 2NSH2=SH| 300,000 *x15H *80% 3,600
2.0HHZYERAMNRES 100,000& *12& 1,200
J.E2IHEH/EE(2AZE)
200,000& *5CH *43] 4,000
4.0150|cl2 20,000 x23| »8& 320
5.0 Esx28 27 ,000& x2BOX*12& 648
6. UASHALZSEAX 64,000& *1BOX*12& 768
7T.ENESESIEY 150, 000& *33] 450
B.2AJIEH(X0IEA) 150, 000& *13] 150
(dx=2) 1,440
1. 80|80z 40,0003 *3CH x12& 1,440
(2gag) 500
1. 92856 50,000& x1H +10 500
(Z2Hl) 6,048
1olEgesssag Ay
7,000 x6A1 15 x 128 *80% 6,048
02 3524t 27,170 25,638 1,532
(2222 % HA) 22,804
1.28H2 5,321
Jb. Bt 2702 x200H x12& 648
L. S9I 1,7703 %2202 x12& 4,673
2.92H(R0FE2A) 35,000) 90 3,150
3. WIS (BAEE) 960,000& 12& 11,520
4 MNotx=ER2 200,000 6& 1,200
5. 838MEEESZ(AES) 70,000& *23] 140
6.2AMNESZ(HAEREZ)
60,000& = 10H *23] 120
7.8 xH a2 70,000 *1JH 2~ %13 70
8.0 HUIAIEZ 15,0002 x30H = 12& 540
I HEXNHEE = 350,000& *1CH*13] 350
10. & X XS XA 30,000& *1CH*x 13 30
11.01EXEE = 100, 000& =20 * 13 200
RHIAXINSFHINEBAEES
70,000& «1CH *13] 70
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A REHHX0S
HM: HH2HAH (REHXEOIS)
erel: Jl= 2| (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
13.2468s Alg 7,700 x123] 93
(Al ZHI KXYl 4,366
1.23ANHAES X E 2t 800,000& 800
2. HH S EH| 50,000& =2LH 100
3.0IZXNRA &€ S8U 50, 000& =2CH 100
4. HEX S RFH| 150,000& x 10~ 12& 1,800
5. A XY =2l 100, 000& *33] 300
6.2=J| 7 X228l 50,000& *3CH 150
7.2 E0AAE RS E £H|
33, 000& *3IH A *4 3] 396
8. NS AAIAEI RS X2 4H|
30,000& 2 12& 720
202 04 bl 41,280 35,040 6,240
01 2 ofHl 9.600 8,640 960
1.2l 20,0003 x10Y »4H x12& 9,600
02 2 40| 31,680 26,400 5,280
2 MO 240,000& x11H «12& 31,680
203 & R = &4 11,460 11,460 0
01 J|22H L R=AH| 7,900 7,900 0
1229 28| 7,900,000& =1 7,900
02 BRI YR2FAH| 560 560 0
1. AE 2| 40,000 *14H 560
04 2SI L RF=AH| 3,000 3,000 0
12N 250,000& x12& 3,000
204 & 2 =S A H| 1,800 1,800 0
01 M ZSLRHAH| 1,800 1,800 0
1. 8#HZHRF=AY| 1,800
. s& 150,000& x1H ~12& 1,800
401 Al HI L 2T 2,300 0 2,300
01 Al&H| 2,300 0 2,300
1.2ctel =X 2,300,000 » 1Al 2,300
405 KHoHFE S HI 2,250 1,650 600
01 JHAE =2 Z F S H 2,250 1,650 600
1. e 1,800, 000& *1CH 1,800
2.8 AJ| 300,000& = 1LH 300
.03 0430 50,000& *3CH 150
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&b AR & E A

SN B2
MY ZOI#H MR (MES)
el Foldy 29 )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
2E2S 796,765 759,011 37,754
FOUHEY HOAT D (HES) 114,226 113,086 1,140
FodEH 29 114,226 113,086 1,140
SHE XA 95,570 96,470 A 900
301 LA Z 95,570 96,470 2900
058 -2l -Has2E43 95,570 96,470 A 900
1.88+2 & &3l 95,120
o224 200,000& x29H 12 69,600
L. &d=s 200,000& x29H x23| 11,600
Ch.elo&gag 20,000 x29H »23| x12& 13,920
2.8t 8¢ 25,0003 x9H +23] 450
FOUXXHH T2 29 12,096 12,0906 0
201 Let24d] 12,096 12,096 0
01 At 22l 12,096 12,096 0
(ger=&dl) 1,296
1.2 XX ME2F ] 120,000 * 12& *90% 1,296
(2g9+¢) 10,800
1.F0XXME A= 10,800
b AEZXTHA(EZ) 25,0008 *8Al 2F+12& 2,400
LhAZXHA(SZ) 25,0008 +8AI2H+128 2,400
Ch.&==0l 25,0003 *8A| 2tx12& 2,400
et IoteuA 25,0003 *8Al 2t 122 2,400
Ot.2clsH X 25,0003 *4A| 2t 128 1,200
At R 2tel 6,560 4,520 2,040
307 21201 A 6,560 4,520 2,040
05 RIZt2IEt = 6,560 4,520 2,040
1.2003H === 170,000& «3MH 2 +1200 & 6,120
2 HNTIGHHYB S+
110,000 *2JH A %23 440
HY2IZH (A2S) 682,539 645,925 36,614
el 2l 588,758 556,334 32,424
ol 2| 588,758 556,334 32,424
101 @124l 566,078 534,494 31,584
01 2= 566,078 534,494 31,584
(22) 387,901
1.532(30&8) 3,849,500 x1H «12& 46,194
2.63 (2715 8) 3,277,800& x2H x12& 78,668
3.72(1288) 2,283,200 x4 H «12& 109,594
4.82(655) 1,653,500& «3H x 123 59,526
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2N RES
B gEeAAY (B2E)
Eel: o2y )
SA BB O () - MM - HES il
5.92 (35 8) 1,288,200& «3H x12& 46,376
6.01s72(3188) 3,081,400& x1H x12& 36,977
7. MM H| 377,335,000& *2.8% 10,566
(M40¢) 45,139
1. USRS 1,653
J.53UR(30EE)
3,357,800 x 1 x4 1%+ 12& 1,653
2. 324 387,901,000& *1/12 32,326
3.8 2=EoH 3 11,160
Jb.25E 01 & 130,000& x4 H 122 6,240
Lt. 154 0] &~204 0] 2F 80,000 «1H 128 960
Ct. 10 0l & ~15E 0] 8¢ 60,0003 «3H «12& 2,160
ct.55 01 &~104 0] 8¢ 50,000 «3H «12& 1,800
(AL 9,112
1152 7,320
It Ui < Xt 40,0003 «7H x128 3,360
LE.IIEDES 20,000 x15H «12& 3,600
Ch. Ot 2 (A THXHLA O] &)
30,0003 «1H«12& 360
PRDNIERSigs[Eay=4 1,792
b DSEM 448 ,0003 x 18 +47| 1,792
(SE=22=Y) 14,880
1.5 14,880
sz 70,000 13 x12& 10,920
[ R 30,0003 «6H x12& 2,160
AR =EXNE R+ 30,0003 x3H x12& 1,080
et M SXNE RS =
30,0003 x2H x12& 720
(=224 48,415
1A 2R 8,476R +34AI1 2H+14H « 123 48,415
(MHIEAS) 60,631
1. 3%z Al 130,000& x14H 128 21,840
2. BEF Oty 387,901,000& x1.2/12 38,791
204 2R AH| 22,680 21,840 840
02 A2l 22,680 21,840 840
1. 428t 22,680
ot.53 250,000& x1H x12& 3,000
Lt.6= 155,000& x2H «12& 3,720
Ct.7=2 140,000 x5H »12& 8,400
ct.8~9= 105,000 x6H «12& 7,560
JlE3l 93,781 89,591 4,190
Jl2&l 93,781 89,591 4,190
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SN B2S
B #NLARY (BLS)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
201 et A | 41,651 38,511 3,140
01 At 22l ] 19,234 17,535 1,699
(det==24|) 12,313
1.2 S bl 300,000 *x 14X *80% 3,360
2. 22402089 80,000& x12& 960
B.00HZERAIRES  100,000& *3M A +12& 3,600
4. T2 EH/EH 120, 000& x4 [H *33] 1,440
5.21&50] 2l 15,000 *2CH *103] 300
6.915D] dAEH 120, 000& *2JH * 13| 240
7.FUSEST2EN 27,000& *15box 405
g.oudsxaeZ & 64 ,000& *12box 768
9.2 A2 X 20,000& *20box 400
10.2AFESD] EY 80,000& «20H *33] 480
11.5AMI EYH 120,000& =101 *33] 360
(2xt2) 776
1.&84X9Y =722 SEH IS
250,000& *23] 500
2. 80U X2 23,000& 1t x12& 276
(2daY) 500
1. 9584 50,000& x1Hx10 500
(Z&Hl) 5,645
1olzgesssag Ay
7,000 *6A x 14K 12 *80% 5,645
02 35244l 22,417 20,976 1,441
(ZZ222LHA) 13,753
1.2ER2 2,873
JF. LBt 2703 *1002 x12& 324
L. S9I 1,7703 x 12024 12& 2,549
2. 8|23 (2AXEE 400,000 x12& 4,800
.40l 23(2A2E) 70,000& x12& 840
4. BHNEEHSZ2(AMES) 100, 000& *23] 200
50020 HUSAIE S 15,000 *23| & x12& 360
6.8SXHAZ 80,000& *13] 80
7.SHEXH 710
b AsEIEE = 500,000& *13] 500
LI . e eg=a 65,000& *23] 130
Ct. Xt = X+ Al 30,000& «13| = 1CH 30
ch.8IIZ A =2 50,000& x 13| =1 H 50
8. &2l HlolE 1,350
I SANExE=2=E 100,000& ~12& 1,200
L. EIIZAI =SS 150, 000& *13] 150
9. X & A 3 M albl 320,000& *13] 320
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SN B2S
B #NLARY (BLS)
erel: Jl= 2| (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
10. 2302 JIsti & X<y 2,220
P SPIET = 60,000& *2J1 A+ 12& 1,440
L. &ol=E2 30,000 «201 A x12€ 720
Ch. X2 THE S H 3l Bl 60,000& *13] 60
(24l) 4,080
1.EAIIAANE S 400,000 x6& 2,400
2. =24 1,400 x40 *5A| 260 1,680
(Al ZHI K XHl) 4,584
1.3AIA 2 800,000 800
2. HHY Y S EH| 100, 000& *1CH 100
3.2 AE S| 50,000& =2CH 100
4. LD AS 20,000& 20 12 480
5. 8N RFH 150,000& x 10~ 12& 1,800
6. SHAEXSF 2l 100, 000& *x23] 200
7.2¢20] Xz 80,000& ~6LH 480
8. 2Ol E0IAIAE X2 2H|
33,000& =20 4 3] 264
9. X2 AAIAE X224
30,0003 *1CHx12& 360
202 04 d| 38,400 32,400 6,000
01 2L Y] 9,600 8,640 960
1.2l 20,000& 10 x4H 128 9,600
02 & 4| 28,800 23,760 5,040
1.2 ¥ 240,000 x10H x12& 28,800
203 & R =&d| 10,080 10,080 0
01 J|22H L R=AH| 6,600 6,600 0
1.J/229 28| 6,600,000& 1 6,600
02 RIS R = XIH]| 480 480 0
1. E3JIMAE 2 =R 40,000& *124 480
04 2SI L RF=AH| 3,000 3,000 0
1. 2N 250,000 x12& 3,000
204 & 2 4= A H| 1,800 1,800 0
01 S HRHAH| 1,800 1,800 0
1. AMZHRFEY| 1,800
. s 150,000& x1H ~12& 1,800
405 Ko SHI 1,850 6,800 AN 4,950
01 Mt = S F SHI 1,850 6,800 AN 4,950
1.TV(32& LED) 800,000& = 1LH 800
1.2 (F2EE) 250,000& =3CH 750
2.2 AL S| 300,000& = 1CH 300
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N = 0l & At & Ml A

2M: HEIS
M =0l 8N MO TR (HHAIS)
& FUHAH2S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EHE1S 699,537 679,199 20,338
F0 MY BHo SR(EHE1S) 127,640 130,284 A2,644
FRoHEH2H 127,640 130,284 A2,644
SUEIA 101,680 104,180 A 2,500
301 LA Z 101,680 104,180 A 2,500
058 -2l -Has2E43 101,680 104,180 22,500
1. 282 L a sl 101,680
o224 200,000& x31H x 12 74,400
L. &d=s 200,000& *31H »23| 12,400
Ch.elo&gag 20,000 *31H »23| x12& 14,880
FOUNXNMHEZOH 2 23,820 23,820 0
201 -4l 20,820 20,820 0
01 At 22l 20,820 20,820 0
(dBr2=EHl) 1,620
1.F8 XX EEH==EH 150,000 » 12 »90% 1,620
(2e+¢) 19,200
1.FXXMEHZ A= 19,200
b AELEHA 25,0003 *8Al 2t+ 123 2,400
LhEuna 25,0003 *8A| 2tx12& 2,400
.= AMdlna 25,0003 *8Al 2t+12& 2,400
. S=AH A 25,0003 *8A| 2tx12& 2,400
Oh. 8 =204 25,0003 *8Al 2t 122 2,400
Ht. OIS A=A 25,0003 *8A| 2tx12& 2,400
AL OFIE R WA (=)
25,0003 +8Al 2t 12 2,400
Ob. O E WA (EZ)
25,0003 +8Al 2t 12 2,400
405 XtAtE SHI 3,000 3,000 0
02 TN 3,000 3,000 0
1.0l 221722l 3,000,000 » 14! 3,000
AN 22 2,140 2,284 A 144
307 gl2tol & 2,140 2,284 A 144
05 RIZHRIE 3 2,140 2,284 A 144
.eoZy2eltidss=2 160,000& 128 1,920
2HMAHHAY Y 442
110, 000& *1JH 2 %23 220
HY2FZH (HE1S) 571,897 548,915 22,982
ol 2 gl 494,854 476,726 18,128
ol 2AH| 494,854 476,726 18,128
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HAESHAHY| (EHE1S)
ol 2oyl
SA-EB B (BH) - MRAY - B il
101 2121 d| 475,114 457,826
01 2% 475,114 457,826
(=23) 328,913
1.52 (305 8) 3,849,500 x1H x12& 46,194
2.6=3 (262 =2) 3,244,400 x2H x12& 77,866
3.72 (125 8) 2,283,200 x4 x12& 109,594
4.83 (b5 e) 1,580,600& x3H 12& 56,902
5.92 (28 8) 1,224,900 »2H 128 29,398
6. XAl 319,954,000 *2.8% 8,959
(&0 4=<) 35,330
1.8252¢ 328,913,000& *x1/12 27,410
2. 832Gt = 7,920
Jb.25E 0 & 130, 000& x2H x12& 3,120
Lt.208 01 & 253012 110,000& 1@ +x12& 1,320
Ct. 15014 20 0] Bt 80,0003 *1Hx12& 960
b 10 01 & 15 0] Bt 60,0003 x1H x12& 720
0F.549 014 104 0] 8 50,0003 *3H x12& 1,800
(HAHBEE=E) 6,000
1.52Y 6,000
Jb . Hi < Xt 40,000& x7H x12& 3,360
LE.JIENHIS 20,000 *118 +x12& 2,640
(Ex=222Y) 11,760
1.Ex82Y 11,760
h.s22+xY 70,0003 x11H «12& 9,240
L ORgesd 30,000& x3H x12& 1,080
CH A ESXgRE 30,0003 x2H x12& 720
ch MNSEXNYERSEIHAZ
30,0003 x2H x12& 720
(X222 41,499
1A 2R Y 8,4763 *34A 2Hx12H « 12 41,499
(M-I EAS) 51,612
1. 83U = A 130,000& x 12 x12& 18,720
2.9 &5 0ty| 328,913,000 «1.2/12 32,892
204 & 2 =S A H| 19,740 18,900
02 =28 x4 19,740 18,900
1. 228Xl 19,740
ot.53 250,000& x1H x12& 3,000
Lt.62 155,000& 2 x12& 3,720
Ct.72 140,000& *4H x12& 6,720
ct.8=2-9= 105,000& x5 x12& 6,300
=&t 77,043 72,189
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S PSR =S
D YRGS ZH(HAE1S)

=&l (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
Jl=3dHl 77,043 72,189 4,854

201 fEt2E | 28,913 27,239 1,674
01 At2 2t 2l bl 14,405 13,233 1,172
(geh=2Hl) 9,066
1.2 N = EH] 300,000& » 12 »80% 2,880
2.0l Z & RARESH| 100,000& »12& 1,200
J.ZEHEUW/EY Ul 200,000 «5CH »33] 3,000
4. 2MESIEH2LH 150,000 «10H »33] 450
5.9180|el=-gHl 20,0002 14 ~6& 120
6.0 2SS ANLS SN2
64,000 x12f A x12E 768
7.FUSESEz=23E X7
27,000 x22f A x12E 648
(2g=+¢) 500
19588 50,0002 «1H 10 500
(Sdl) 4,839
1olEgesssag A
7,000 +641 x 12 » 12& «80% 4,839
02 S2=294H| 14,508 14,006 502
(SS23LHA) 12,084
1.28R23 5,634
Jh.get 2703 *100H «12& 324
L. S91 1,7703 2502 x 122 5,310
2.0t ER= 50,000& 122 600
.2 RE= 50,0003 *22 100
4.80123 450,000 122 5,400
5. 83tx3FA = 170,000& =13l 170
6.E32HMAUABAMNEZ 15,000& 122 180
(A& YIS 2,424
1.83AA S 1,000,000& 1,000
2.2 AHE S| 200,000& = 1CH 200
3.8=7I 100,000& «2CH »23] 400
4. 4353l 100,000& 1CH 100
5. &= 50,0003 =2CH 100
6.2 IAIAE 33,0002 *2CH x4 3 264
7. NEAMAAE 30,0002 «1CH 12 360
202 o4 4 33,120 27,600 5,520
01 S LHOHI 7,200 6,480 720
1.2 WA 20,000 102 «3H x12& 7,200
02 EA0dtl 25,920 21,120 4,800
.20 240,000 x9g 12 25,920
203 YR =&Y 10,080 10,040 40
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24 BHEIS
M HH2IALH(HE1S)

el JI=23Hl

SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
01 J|22I PR =&Y 6,600 6,600 0
1229 2F48Y| 6,600,000& x 1 6,600
02 HJIAYE 2 =&H| 480 440 40
1. 83NN 40,000& x12H 480
04 ENSI IR =AY 3,000 3,000 0
12N RFEY| 250,000& = 12& 3,000
204 &R = A H| 1,800 1,800 0
01 MR FY| 1,800 1,800 0
LI YRET Y| 1,800
. s 150,000 *1H x12& 1,800
401 Al HIL 200 2,000 880 1,120
01 Al& bl 2,000 880 1,120
1. SFOAE HAE DM SAHHl
2,000,000 * 14! 2,000
405 XH&HE S 1,130 4,630 A3,500
01 AL 2B F SHI 1,130 4,630 A 3,500
1. CIXIE3t0 et 400,0003 =1 H 400
2. QA 228 AJNY 250, 000& =21 500
3. B M4 230,000& =1 H 230
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= o
A & 0l & AF 2 E A A
2AM: HAE2S
HE: F0 #HE MY T2 (EHH2S)
Sl FRIMESY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EH&2sS 771,043 658,050 112,993
F0 MY o SR(EHN2S) 141,451 141,616 A 165
FRoHEH2H 141,451 141,616 A 165
SUEIA 118,200 121,300 A 3,100
301 LA Z 118,200 121,300 A 3,100
058 -2l -Has2E43 118,200 121,300 A 3,100
1. S E S| 114,800
ot JlEg=¢ 200,000& x35H 12 84,000
L. &= 200,000& *35H »23| 14,000
Ct. Sl &A= 20,000 *35%H »23| x12& 16,800
2. Bty ¢ 25,0003 «68H 23] 3,400
FOUNXNHMHEZOH 2 21,031 18,096 2,935
201 Let24d] 18,096 18,096 0
01 At 22l 18,096 18,096 0
(ger=&dl) 1,296
1. FUNXHEHS S 120,000 * 12& *90% 1,296
(2g9+¢) 16,800
1. FUNXAEZAL=E 16,800
D T 25,0003 *8A| 2tx12& 2,400
Lh.AZEHA(EZ) 25,0008 *8AI 2t+12& 2,400
ChAZXHA(SZ) 25,0003 +8AI2H+128 2,400
eh AXEWA(LDZ) 25,0008 *8AI2H+128 2,400
O, Rotw4d 25,0003 *8A| 2tx12& 2,400
Ht. 2EY WA 25,0003 *8Al 2t 12& 2,400
AN F=RIIU4A 25,0003 *8Al 2t 12 2,400
405 Xt&tE SHI 2,935 0 2,935
01 AL EFH S 2,935 0 2,935
1. AXEEH SEININMNE 2,655,000 » 14! 2,655
2. HEJ(FUXNXHEHE) 140,000& »2CH 280
FANRX 22 2,220 2,220 0
307 glz2+ol & 2,220 2,220 0
05 RIZt2IE = 2,220 2,220 0
1. fol 32 160,000 128 1,920
2. EANHIIGHAEEZ 150,000& »23] 300
HY2FZH (HHE28) 629,592 516,434 113,158
ol 2d | 549,673 445,517 104,156
ol 2A| 549,673 445,517 104,156
101 @14 Hl 529,093 427,877 101,216
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2N EHAN2S

M. HMSAAH (EHE2S)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
01 E4 529,093 427,877 101,216
(22) 364,820
1. 52 (2715 8) 3,768, 100& x1H x12& 45,218
2. 6= (265 2) 3,244 ,400& »2H x12& 77,866
3. 72172 2) 2,575,500& *3H x12& 92,718
4. 832 (62 8) 1,653,500& *3H »12& 59,526
5. 9345 8) 1,355,300 x3H ~12& 48,791
6. Jls83 (235 2) 2,563,600 x1H x12& 30,764
7. MRIMAHI 354,883,000& *2.8% 9,937
(&0 =%) 40,242
1. 8324 364,820,000 x1/12 30,402
2. 2o 2 9,840
JF. 254 0] &t 130,000& x2H +12& 3,120
Lt. 20 Ol & 254 0] Bt
110,000& *3H x12& 3,960
Ch. 15014 20018 80,0003 *1Hx12& 960
ch. 50l & ~10 0] Bt 50,000 «3H =128 1,800
(@IF:=RSEN=y 9,352
1. JII5x¢ 7,560
JF. B X+ 40,0003 9 x12& 4,320
Lb. JIEIHS 20,0008 * 122§ » 128 2,880
Ch. JF&H3 (AT X O &)
30,000& x1H »12& 360
2. NHEHSHHIEX 4 1,792
b, DS&M 448,000 *1H 4| 1,792
(S+224+9) 12,960
1. S2xQay 12,960
b, s28+¢ 70,000 x12H x12& 10,080
L., OIgRaE 30,0003 3 x12& 1,080
Ch. A =Xges< 30,000 x3H x12& 1,080
ch. Al EXE 2SIt 2
30,000& x2H »12& 720
(X222 44 957
1A R LY 8,476 #34A 2Hx13H x12& 44 957
(Alg2aS) 56,762
1. 83 ZAH| 130,000& »13H x12& 20,280
2.9 &3 0ty| 364,820,000& x1.2/12 36,482
204 &R = A Y| 20,580 17,640 2,940
02 8z 8 X4 20,580 17,640 2,940
1. A3 XH| 20,580
ob. 53 250,000& x1H +12& 3,000
L. 63 155,000& »2H «12& 3,720
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bl (EH & 2S)

MY . B (3H) - NEAY - BAS o A o il 2
Ct. 72 140,000& 3G x12& 5,040
cl. 8-92 105,000& x7H ~12& 8,820
79,919 70,917 9,002
79,919 70,917 9,002
B2 A Y| 32,039 29,837 2,202
AP 22| | 15,102 13,603 1,499
(et24d|) 9,360
1. 2NSE+EH| 300,000& *13H *80% 3,120
2. dOIMEZREHEH/EY
200, 000& *3CH *33] 1,800
3. e¢1s)|el= 20,000& x2H x6 & 240
4., SA/EAIEYH 150, 000& *x2CH *33] 900
5. FUSESz2L2EX 27,000& *20box 540
6. CIZSHANLZEX 64,000& *15box 960
7. EAMEX 20, 000& *30box 600
8. HHIZYRAIRES 100,000& x12& 1,200
(2daY) 500
1. =824 50,000& x1Hx10 500
(Sl) 5,242
RSEEERSTE !
L0003 *6A 13 x 128 *80% 5,242
02 352494l 16,937 16,234 703
(ZZ2L22LHA) 12,780
1. E= 4,310
JF. LBt 2703 *1502 x12& 486
L. &I 1,7702 18021 x12& 3,824
2. &Jl= 600,000& x12& 7,200
3. Mot R2 40,000& x12& 480
4. BHNEELZ2(AMESE) 70,000& *23] 140
5, 3B HMAOIHUYRZ2 15,000 «1CH~12& 180
6. dgxdHLArT 130, 000& *13] 130
7. SHHENHEE = 250,000& *x1CH = 13] 250
8. SHEXINHHANES 60,000& *1CH*13] 60
9. SHAEXNFASX 30,0003 *1CHx13] 30
(A2dl) 1,248
1. Xotgeal & FoIXXHH
0 *3¢ *4A| 2t*80L 1,248
(Al ZHI KX Hl) 2,909
1. EANAHS 1,500& 633 .38 951
2. HHGSEY| 100, 000& * 1A 100
3. DAESD] 150, 000& = 1CH 150
4. =] 16,000 *2CH x12& 384
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2A: BHE2S
M HH2HGHI(EHA2S)

@2 Jl2&tl (&2 &)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
5. XSRS Y+2Hl 50,0003 «1CH*12& 600
6. =T 50,000& =2CH 100
7. 2OEOIAIAE S 33,0003 *x20H x4 3] 264
8. N2QIA(ZEHZ2El)AlAEH
30,0002 x1CHx12& 360
202 04| 36,000 27,600 8,400
01 2LHOHI 7,200 6,480 720
1. =AY 20,0003 10 3P 122 7,200
02 MY 28,800 21,120 7,680
1. 2HAYI 240,000 x10H x12& 28,800
203 P R =&lY| 10,080 10,080 0
01 J|22I PR =Y 6,600 6,600 0
1229 2F8| 6,600,000& x 1 6,600
02 d R R =AY 480 480 0
1. E3JAMMERFAH| 40,000& x12H 480
04 ENESIHRF=EY| 3,000 3,000 0
12N RFEY| 250,000& x12& 3,000
204 X2 = A H| 1,800 1,800 0
01 Mg R-HFY| 1,800 1,800 0
1LAMZYRERY| 1,800
. s 150,000 *1H x12& 1,800
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= o
A & 0l & AF 2 E A A
SN PYS
M =0l BN HY CR(RYS)
©el: FOMHSY (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
&S 816,507 801,440 15,067
F0 MY BHO SR(FYS) 189,580 185,380 4,200
FRoHEH2H 189,580 185,380 4,200
= .8H& XI# 157,940 159,940 A 2,000
301 LA Z 157,940 159,940 A 2,000
058 -2l -Has2E43 157,940 159,940 A 2,000
1.8 +=g¢&E3sH| 157,440
o224 200,000 »48H «12& 115,200
L. &d=s 200,000& *48H »23| 19,200
Ch.elo&gag 20,000 x48H »23| «12& 23,040
2.9 & 25,0003 «10H #23] 500
FOUNXNHMHEZOH 2 28,020 22,820 5,200
201 Let24d] 28,020 20,820 7,200
01 At 22l 28,020 20,820 7,200
(CEES=Yp 1,620
1.2 XX ME2F ] 150, 000& » 12& *90% 1,620
(2g9+¢) 26,400
1. XX MEH 2 A =E 26,400
I HAATZR(EZ) 25,0008 *8Al 2F =128 2,400
Lt HAATX(ZZ) 25,0008 *8Al 2t+12& 2,400
CH.OOIHEHA(=2)
25,0003 *8Al 2t 128 2,400
et.CHOIEHA(EZ)
25,0003 *8Al 2t 128 2,400
0. QItwa(x=3) 25,0003 *8A| 2tx12& 2,400
BH.QItwd(=3) 25,0003 *8Al 2t 128 2,400
AR uWA 25,0003 *8Al 2tx12& 2,400
Oh.Z20ln4 25,0003 *8Al 2t 12& 2,400
. g=0wa 25,000 *8Al 2tx 123 2,400
x.=801E 25,0003 *8Al 2t 12& 2,400
b HEOIHAATZX 25 0002 *8Al 2t+12F 2,400
FANRX 22 3,620 2,620 1,000
307 glz2+0l & 2,620 2,620 0
05 RIZteIE = 2,620 2,620 0
.20 el 200,000& 128 2,400
EMEIUHE =2 110, 000& 22 220
401 Al HI L 2 THHI 1,000 0 1,000
01 A& HI 1,000 0 1,000
1.2M10 &4 1,000,000+ 14! 1,000
HY2IZH (RLS) 626,927 616,060 10,867
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e g 4

(el ==

o o
F2gad(#es)
H24H

SN FH-SA(EN) - MBAY - BES

012 2 H 537,167
018 2K H 537,167
101 Q1244 516,167
01 22 516,167
(23) 352,844
1.53 (265 2) 3,737,900 x1H x 128 44,855
2.63(2552) 3,209,200 x2H x 122 77,021
3.73 (165 2) 2,522,300% x4H « 128 121,071
4.82(55) 1,580,600 *12H x 122 18,968
593 (488) 1,355,300 x5 x 122 81,318
6. H I & H 343,233,0002 +2. 8% 9,611
(&40ol=¢) 43,601
1.HBRA4< 1,597
52U (265E)

3,244,400 x 18 4 1%* 122 1,597
2.¥324Y 352,844,000 x1/12 29,404
3.2 oa2 12,600
Jb.25W 0] & 130,000 x4 x 122 6,240
Lt.20 0| &4~2554 018t 110,0008 »2H « 122 2,640
CH. 10 0l & ~15 018t 60,0008 1% «12& 720
2.5 0] Ab~10 0] B¢ 50,000 x5 =128 3,000
OHHEd+) 5,520
11544 5,520
ot BH Xt 40,0004 x5 » 128 2,400
Lt JIEHS 20,000 *13% * 122 3,120
(E4+224+E) 13,680
1.5:224¢ 13,680
h.s224Y 70,0008 « 12 « 128 10,080
Lh.olggess 30,000 4 H <12 1,440
CHAIRIEX224Y 30,0009 x4 «128 1,440

S AL E X 24 YIHAE
30,0008 x2H <128 720
(ZB224+H) 44,957
TAAAZR2LY 8,476 *34A| 2tx13H 128 44,957
(MY 2AS) 55,565
.Y HZ A 130,000 * 13 « 12 20,280
2. HEE I 352,844,0009 x1.2/12 35,285
204 X 4-HAHH 21,000
02 =32 x| 21,000
1.2 38X 21,000
ot .53 250,000 x 1% x 122 3,000
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SN RS
B #HL2ABY(PYS)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
Lt.62 155,000& x2H +12& 3,720
Ch.72 140,000 x4« 12& 6,720
ct.8~92 105,000 x6H x 12 7,560
Jl2& | 89,760 84,689 5,071
Jl2&Hl 89,760 84,689 5,071
201 Bt A H| 39,820 38,019 1,801
01 AR 22l ] 19,462 18,176 1,286
(eeta=H|) 12,760
1. 2NSS5SH| 300,000 *x13H *80% 3,120
2.0HHZYERAMNRES 100,000& *12& 1,200
3.Z2HEH 200, 000& *x5CH x43] 4,000
4. 2DANESIEYH 180, 000& *x2[H *23| 720
5. T2l & AD] 300,000& *23] 600
6.21=D|el= 20,000 «30 6 & 360
7.0150]43 25,000& «2JH 4 3] 200
8.01& )| 2 4= &H| 200,000& *13] 200
9.F0SESsSx2E=EX 27,000& *40box 1,080
10.0123HLZIE+EZX 64 ,000& *20box 1,280
(2d4Y) 500
1.2 =25 50,0003 *1Hx10 500
(dxt2) 960
1. 84J|YX2 40,0003 =20 12& 960
(S2=dl) 5,242
fol2gesssagaly
7,000& x6A! x 132 x 122 «80% 5,242
02 332494l 20,358 19,843 515
(BZ222LHA) 17,406
1.28= 6,120
Jb. Bt 2703 x2501 x12& 810
L. S9I 1,770& 25024 12& 5,310
2. 80|12 810,000& 12& 9,720
3.4 .0 xER22 85,000& x12& 1,020
4 0 HUYANES 28,0003 *1CHx12& 336
5.8t edg2 HdE22) 50,000& *23] 100
6.s8HEOEANS B8 = 110,000& *13] 110
(AIE & HI S XId]) 2,952
1.8AI2H 2 1,000,000 1,000
2. HAE S EHI 200,000& = 1CH 200
3.2 AT ST 100, 000& = 1CH 100
4. SHEOIEX U L =2yl
30,000& 1t ~12& 360
5. LHEE D] 80,000 = 10CH 800
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SN PYS
B #HL2ABY(PYS)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
6.= Q1 StOIAIAE ull 33,0003 x4 3] 132
7. X EAAAE ull 30,000& x12& 360
202 04 b 35,520 32,400 3,120
01 2LHOHI 9,600 8,640 960
1.2 WAl 20,0003 * 10 x4H x12& 9,600
02 EHN Y| 25,920 23,760 2,160
1.2 XY 240,000& x9H x12& 25,920
203 &R =&H| 11,420 11,420 0
01 J|22HLR=AH| 7,900 7,900 0
10|22 R =AY 7,900,000& =1 7,900
02 HRJAE R =XY| 520 520 0
1. 33N RF Y| 40,0003 =134 520
04 EANSHLRF=AH| 3,000 3,000 0
1. 2N2EYERFAH] 250,000& x12& 3,000
204 &2 F H| 1,800 1,800 0
01 S HR-HAY| 1,800 1,800 0
1. 83 ZH2F=EY| 1,800
. s 150,000& 1 x12& 1,800
405 XH&HF S I 1,200 1,050 150
01 AL S EF SHI 1,200 1,050 150
1.CI X E 3+l 2t 400,000 = 1CH 400
2.TV(32&) 800,000& = 1LH 800
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N = 0l & At & Ml A

SNBSS
M Z=0l BN HY CR(HSE)
el FOIME 29 (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2SS 733,358 713,253 20,105
F0 MY BHo SR(ASS) 106,280 100,750 5,530
FodEH 29 106,280 100,750 5,530
SHE XA 95,120 92,490 2,630
301 LA Z 95,120 92,490 2,630
058 -2l -Has2E43 95,120 92,490 2,630
1. &= 95,120
ot JlEg=¢ 200,000& x29H 12 69,600
L. &= 200,000& x29H x23| 11,600
Ct. Sl &A= 20,000 x29H »23| x12& 13,920
FOUXXEH Z208H 29 8,780 5,880 2,900
201 Yur2 Y| 8,280 5,880 2,400
01 At 22l 8,280 5,880 2,400
(dBr2=EHl) 1,080
1. FUNXMAE 23 H 100,000 123 *90% 1,080
(2e+¢) 7,200
1. FYURMXMEH ZAMsH 7,200
Jb. A0lwa 25,0003 *8Al 2t+ 123 2,400
Lh. &34 25,0003 *8A| 2tx12& 2,400
Ct. @Jtna 25,0003 *8Al 2t+12& 2,400
405 Xt AHE S| 500 0 500
01 AL EFFHSHI 500 0 500
1. QUIHE 25,0003 »20& 500
A X 2el 2,380 2,380 0
307 21201 A 2,380 2,380 0
05 RIZt2IEt = 2,380 2,380 0
1. o3 2Aeld 2 180,000& »12& 2,160
2. IMNEDIE AT
110,000 »1JH A %23 220
HY2IZH (AES) 627,078 612,503 14,575
olet 2 gl 550,975 540, 404 10,571
ol 2A Y| 550,975 540,404 10,571
101 @124l 531,235 520,484 10,751
01 2= 531,235 520,484 10,751
(22) 365,392
1. 52(30& &) 3,849,500 x1H «12& 46,194
2. 622715 8) 3,277,800& x2H x 123 78,668
3. 72(1688) 2,522,300& x4 H«12& 121,071
4. 832(788) 1,726,900& «3H 123 62,169
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2N
X ZH -
L= B

el

e 2

Je 0 00

HO HO oK1
o
=

02 02

=5

s
olo
oM

!

A B2l (BH) - MISAE - BAS il
(25 2) 1,224,9002 *1H 122 14,699
L JIS82(2852) 2,719,800 * 1128 32,638
oMb 355,439, 000! *2. 8% 9,953
(Ao 2g) 47,012
1. Hezeesy 5,642
ob. 52U (285 2)
3,305, 70021 * 12 %4 1% 122 1,627
Lt. 62U (205 2)
2,719,5002 x2 % x4 1%+ 12 2,676
CJls7T2UR (285 2)
2,719,8002 12 x4 1%+ 128 1,339
24 365,392,0008! *1/12 30,450
242082 10,920
251 0] & 130,000 x4 * 12 6,240
. 201 0] &4~254 D] o
110,0002 x 12 12 1,320
. 15E 0l &4~20 O] o
80,000 *12 x 12 960
. 5E 0] A~10E D12 50,0008 *42 128 2,400
BELY) 9,952
=ag 8,160
e 40,000 *8% x 122 3,840
L JIENE 20,0002 *15% 1228 3,600
ESIPNE=1C0 (PUETIES)
30,000 2% x 128 720
EETCESS= 1,792
InR=L- P 448,0002 %12 %47 1,792
24 12,120
sRQL 12,120
s2esg 70,0009 * 1124 x 128 9,240
RN 30,0002 *3% 122 1,080
ANBZXSR2E 30,0008 *3% « 122 1,080
ANSIZSX ARSI B
30,0008 x2% 12 720
(Zn224Y) 41,499
1. A2 a2esy
8, 47621 *34A1 2t + 128 122 41,499
(MHBEAS) 55,260
1. Moz Ay 130,000 * 128 122 18,720
2. GEEIH 365,392,0002! *1.2/12 36,540
204 =243 A H| 19,740
EEEEST 19,740
1. 22| 19,740
b, 52 250,00021 12 12 3,000
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SNBSS
B #HLARY (RS S)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
L. 62 155,000& x2H +12& 3,720
Ch. 72 140,000 x4« 12& 6,720
ct. 82-~93 105,000 x5H x 12& 6,300
Jl2& | 76,103 72,099 4,004
o=l 76,103 72,009 4,004
201 Bt A H| 28,173 27,179 994
01 AR 22l ] 13,745 12,644 1,101
(eeta=H|) 8,406
1. 2HEE =SH| 300,000 *x12H *80% 2,880
2. OiHIZ2E R AIRESHI 100,000& *12& 1,200
3. diolM=ZRE EH/EH
200,000& *4CH *33] 2,400
4. WAL EY 100, 000& =10 *23] 200
5. AZESHANLSELXS 64,000& *10BOX 640
6. FUSESZ2LI2EA 27,000& = 18B0OX 486
7. EAMEX 20,000 *18B0OX 360
8. 291D 2= 20,000& =21 6 & 240
(2d2Y) 500
1. =8 5e 50,000& x1H+10Y 500
(Z22Hdl) 4,839
1. JI2E2s#HE224H|
7,000 x6A 122 x 122 *80% 4,839
02 =329l 14,428 14,535 N 107
(B222 ¢ HMA) 10,382
1. E= 4,000
Jp, LBt 2702 x1204 x12& 389
L. S2I 1,770& x1702H x12& 3,611
2. dI|l& 430,000 128 5,160
3. Motz 50,000 x12& 600
4. SHINEEE = 70,000 «23] 140
5. PAlHY AIEZ 16,0002 x1CH = 12& 192
6. X HAxx2 150, 000& *x 13 150
7. O|EX MUEBE= 70,000& =201 *13] 140
(e42Hl) 1,872
1. AR&ASHI 1,300& x40 *6A| 260 1,872
(Al ZHI KX Yl) 2,174
1. SMNHES X2 H| 800,000& *1JH & 800
2. HHSSEY| 100, 000& *1CH 100
3. ZAESD] 100, 000& = 1CH 100
4. OIEX SEUL =X LI 100, 000& *1CH 100
5. 80| A&l 50,000& *2CH x4 3] 400
6. 2J| A2l 50,000& 1 CH 50
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M 28S
H: HH2IAH(2SS)
& 123l (chel & 9l)
SA-ZH () - HRAY - BES Off &4 %‘E_i Hl w&z2
7. BOE0IAAY S E 2|
33,0008 «2CH *43 264
8. NIoAAAE SKE2H
30,0003 10 +12& 360
202 oddl 33,120 30,240 2,880
01 = LH o4 1l 7,200 6,480 720
1. =L 20,0003 «10 «3H x122 7,200
02 HOHI 25,920 23,760 2,160
1. AN 240,000& x9H 123 25,920
203 R =&l 10,080 10,080 0
01 1228 =4 6,600 6,600 0
1122 YRF8 6,600,000 x 14 6,600
02 It S =&Y 480 480 0
1. EJAIMME =TI 40,000& 129 480
04 FN2ELRZ=TH| 3,000 3,000 0
1L.2EAS2ZYRFL 250,000& 128 3,000
204 MR AH| 1,800 1,800 0
01 MR FH 1,800 1,800 0
1AM 3YRFAH| 1,800
.8 150,000 x1H 128 1,800
405 RHoHE S HI 2,930 2,800 130
01 AL EZFH S 2,930 2,800 130
1. 430 400, 0003 = 1CH 400
2. QAN CIXNETY 800, 000& 1CH 800
3. QA oI(1218) 130, 000 & 6K 780
4. Q1A WIS XH(301E) 300,000 »24! 600
5. 39a ZOIASR 35,000 * 10K 350
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N = 0l & At & Ml A

2M: SUS
FM: =0 Y HO T2 (SUS)
©el: FOMHSY (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sUs 796,545 809,645 A 13,100
F0 MY BHo SR(SUHS) 143,896 147,746 A 3,850
FRoHEH2H 143,896 147,746 A 3,850
SUEIA 127,920 129,670 21,750
301 YprE A 127,920 129,670 A1,750
058 -2l -Has2E43 127,920 129,670 21,750
1. 282 L a sl 127,920
o224 200,000& x39H 12 93,600
L. &d=s 200,000& *39H »23| 15,600
C.go+¢ 20,000 *39H »23| x12& 18,720
FOUNXNMHEZOH 2 13,576 15,696 n2,120
201 Yur2 Y| 13,296 15,696 A2,400
01 At 22l 13,296 15,696 A 2,400
(dBr2=EHl) 1,296
1.F8XXEEH2E 120,000 » 12 »90% 1,296
(2e+¢) 12,000
1.:UNXEE ZAE 12,000
A mA 25,0003 *8Al 2t+ 123 2,400
L AZXHA 25,0003 +8Al 2t+12& 2,400
Ch.elna 25,0003 *8Al 2t+12& 2,400
ch.QItwA(x=3) 25,0003 *8Al 2t 12 2,400
Oh.Jtwa(03) 25,0003 *8Al 2t 122 2,400
405 RHoHE S HI 280 0 280
01 AL EZFH S 280 0 280
1. 42N (FUNXNHEHE) 140,000 =204 280
EAtS R 2tel 2,400 2,380 20
307 21201 A 2,400 2,380 20
05 RIZt2IEt = 2,400 2,380 20
.20 el 180,000& »12& 2,160
=PRI RSIFSHN B= R
120,000 »1JH A %23 240
HYR2IZH(SUHS) 652,649 661,899 A9,250
el 2l 568,211 575,133 26,922
ol 2l 568,211 575,133 26,922
101 @124l 546,371 552,873 A 6,502
01 2= 546,371 552,873 A6,502
(22) 379,233
1.53(28&8) 3,797, 100& x1H «12& 45,566
2.62(3258) 3,404 ,500& «2H « 123 81,708
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M SUS
M HH2IZH(SUS)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
372128 8) 2,283,200& x5H x 123 136,992
482 (82 8) 1,797, 100& x1H x 123 21,566
5.92 (33 8) 1,288,200& x3H «12& 46,376
6.1s72(3088) 3,057,900& x1H x12& 36,695
7. MM AH| 368,903,000& *2.8% 10,330
(840 +¢) 44,537
1. i*SE=Y 1,894
52U (30&88)
3,849,500 »1H «4 1%+ 12 1,894
2. 82=¢ 379,233,000 *1/12 31,603
3.8 2==EoH =3 11,040
Jb. 25 0] & 130,000& x4 H 122 6,240
Lt.20E Ol &~25 012t 110,000 x1H «12& 1,320
CH. 102 01 &~15E 012 60,000 4«12 2,880
ct.5@ 0l & ~10 01 8t 50,000 «1H 128 600
(OtAEA =) 6,480
1.5 6,480
It B < Xt 40,0003 9 x 128 4,320
Lt . JIEFDLS 20,0003 «9H «12& 2,160
(S=22=+Y) 12,960
1.5=82E 12,960
S22+ 70,000 12 x12& 10,080
LA 30,0003 «3H 122 1,080
Ch A 2Xg R 30,0003 x3H x12& 1,080
et M SXNE RS =
30,0003 x2H x12& 720
(=n22=+4¢) 44,957
1A 225 8,476R +34AI 2H+13H « 123 44,957
(AMBIB&S) 58,204
1. 8 U5 AlH| 130,000& x13H 128 20,280
2. BEF Oty 379,233,000& *1.2/12 37,924
204 AR A H| 21,840 22,260 AN 420
02 22 =4 21,840 22,260 A 420
1. 428t 21,840
Jt.53 250,000& x1H x12& 3,000
Lt.62 155,000& »2H »12& 3,720
tt.72 140,000 x6H »12& 10,080
ct.8~92 105,000 x4 H «12& 5,040
Jl=3l 84,438 86,766 A2,328
o=l 84,438 86,766 ~2,328
201 et 35,908 34,140 1,768
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2N
X ZH -
L= B

el

BB - Sl (31) - NRAY - BES il 2
1. 4= Sl 70,000%1CH =12 840
2. XUl Xl 80,000 1CH x23l 160
04 i 36,000 32,880 3,120
1 2 WA 7,200 6,480 720
1.2 Yl 20,000 «10 x3H «12& 7,200
ERCE] 28,800 26,400 2,400
1. 2HH| 240,000& x10H «12& 28,800
Q2= 10,080 10,080 0
228 =a| 6,600 6,600 0
1122824 6,600,000 x 14 6,600
A Y R 480 480 0
|LHRIM YR ETY 40,0008 12 480
SHEYLRET 3,000 3,000 0
1.2EAS2ZYRFL 250,000& 128 3,000
MR =H A 1,800 1,800 0
Mg 1,800 1,800 0
1AM = 1,800
H.sE 150,000 x1H 128 1,800
AHebE S H| 650 7,866 NT,216
TR E S FH S 650 7,866 NT,216
.28 H 500,000 =14 500
2.6 30| 50,000& =3CH 150
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N = 0 &8 AFH Y & A AN
SN SHS
M 3o #E MO CO(SHE)

Sl FUMESY (B9 ®R)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
sSdS 796,475 751,945 44,530
FO #H Ho TR(SHES) 129,496 129,996 A 500
FOMEH2Y 129,496 129,996 A 500

S.UHE 2243 110,040 110,040 0]
301 dBEtE A= 110,040 110,040 0

05 -2 - EsSEAS 110,040 110,040 0
1.&8&2LE S| 108,240
ot olgx< 200,000 »33H x12& 79,200
Lh. &= 200,000& *33H *23] 13,200
Ch.3 o &Y 20,000 *33H »23| x 128 15,840
2.8t & CH 25,0003 *36H *23] 1,800

FOMEHEZZ NSRS 11,296 11,796 A 500
201 LEr2 Y| 10,896 10,896 0
01 At 22l Yl 10,896 10,896 0

(geragl) 1,296
1. FUXXME S 120,000 * 12& *90% 1,296
(2g94+4) 9,600
1.FURNXAMEH A 9,600
Jb. R IH(A) 25,000& *8A| 2tx12& 2,400
L. 2J1(B) 25,0003 *8A| 2tx12& 2,400
Ct.CIHOIHEH A 25,000& *8A| 2t x12& 2,400
ch. =283 25,0003 *8A| 2tx12& 2,400
405 XH&HF SHI 400 900 A 500
01 AL =S EF SHI 400 900 A 500
1. =228 400, 0003 =14 400

HAMS X 2l 8,160 8,160 0
307 QI2t0| ™ 8,160 8,160 0
05 oI2t2 et 32 8,160 8,160 0

1.2 A3HE8HE= 250,000& x12& 3,000

2. 8Dt B 2 O & 160,000& = 12& 1,920

SAYAIEOIMEHH 150,000& = 12& 1,800

4. 520 I |E2UH 120,000& = 12& 1,440
HHHAH (SEES) 666,979 621,949 45,030
ol 2| 566,311 527,351 38,960

ol 2A | 566,311 527,351 38,960
101 @121l 544,051 507,191 36,860
01 2= 544,051 507,191 36,860

(23) 379,234
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SN SHS
BN BHLARY(SHE)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
1.562 (308 8) 3,849,500& x1H x 123 46,194
2.62 (265 8) 3,244 4003 x2H x12& 77,866
372128 8) 2,283,200 x6H «12& 164,391
482 (58 8) 1,580,600& x1H x12& 18,968
5.98 (28 8) 1,224,900& »2H «12& 29,398
6.)ls72(1988) 2,673,900& x1Hx123 32,087
7. MM 368,904,000& *2.8% 10,330
(840 =¢) 43,416
13RI 2,933
b.528lR(2958)
3,332,000 x 18«4 1%+ 128 1,640
Ll.eSU<*(185S)
2,626,2003 x 18«4 1%+ 128 1,293
2. 82=¢ 379,234,000 *1/12 31,603
3.8 2==EoHe =3 8,880
Jb.259 01 & 130,000 »2H «12& 3,120
Lt.20F 0l &~25E 01 2F  110,000& 1 =128 1,320
Ct.15E 01 &~20= 012t 80,000 »2H «12& 1,920
ct. 10501 &~15E 012t 60,000 1H «12& 720
OF.5 0l & ~10E 0| 2t 50,000 «3H 122 1,800
(OtAEAE) 4,920
1.5 4,920
Jb. B Xt 40,0003 «4H «12& 1,920
Lt . JIEFDLS 20,0003 «11H «12& 2,640
Ct. ot =2 30,0003 1«12 360
(E==22=+Y) 13,320
1.€5x82s4 13,320
t.s2R+H 70,000 12 =128 10,080
L. Qg 30,000 x4 H «12& 1,440
Ch A =SR2 30,0003 «3H 122 1,080
(S N SCIE=DN RS Rt =) PO =
30,0003 «2H 128 720
(=224 44,957
1AL 2R 8,4763 +x34A1 2H+13H + 123 44,957
(AHIB&S) 58,204
1.3 M= Al 130,000& x13H 122 20,280
2. BEF Oty 379,234,000% *1.2/12 37,924
204 AR A H| 22,260 20,160 2,100
02 g2 2l 22,260 20,160 2,100
1. 822Xt 22,260
t.5a 250,000& x1H +12& 3,000
Lt.6= 155,000 »2H «12& 3,720
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SN SHS
BN BHLARY(SHE)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
Ch.72 140,000 *7H x12& 11,760
ct.8~9= 105,000 x3H ~12& 3,780
3l 100,668 6,070
=&l 100,668 6,070
201 Bt 51,968 3,810
01 At 22l bl 16,458 1,546
(eta==24|) 10,260
1. 2529 H| 300,000& *13H *80% 3,120
2.0HZ2ER2AMNRES 100,000& ~12& 1,200
J.EQEINEH/EH 200, 000& x4 CH *43] 3,200
4.0150|el2 16,000& *2CH*2 I x6 & 384
5.2AMNEEIIEY 150, 000& *x2CH *23] 600
6.0 HMEZ 64 ,000& *12Box 768
7.FUEESTE2Y 27,000& *20Box 540
8.}/ AAMES 16,000& *23] * 144 &~ 448
(2d2Y) 500
1. 952856 50,0003 *1E 10 500
(Z22Hdl) 5,242
IPIEEERS-
7,000& x6A! x 13 x 122 *80% 5,242
(dx2) 456
1. 84J|9X2 38,000& 1t ~12& 456
02 352t 35,510 2,264
(S22L2LHA) 32,326
1.28H2 4,310
Jl. Bt 2702 x15024 x12& 486
L. S9I 1,770& x18024 128 3,824
2.80|2 2,150,000 x12& 25,800
3. 4Gt = 130,000& x12& 1,560
4 SHANHELZ2(ANES2) 108, 000& *23] 216
5SS/ ERY3 400,000& *x13] 400
6.0/EXNEE =2 40,0002 = 1CH 40
(A2Hl) 468
1. ZF0XUXHE g oal(2H)
1,300& *4L*3A] 2+ %30 468
(AIE & HI 2 XIdl) 2,716
1.23ANHAE 1,500, 000& 1,500
2. HHY S EH| 100, 000& *1CH 100
3.2 AT S D] 90,000 «2LH 180
401 2EXSXN(SFEUH,HHl) 15,000 x12& 180
5. 20 E0IAAES 2= H|
33,000& *3CH 42 2| 396
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N = 0l & At & Ml A

2A: 29S
M =0l BN HY CR(2LE)
Sl FRIMESY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
=25 748,061 717,713 30,348
0 A O SR (=Z2RS) 128,686 127,156 1,530
FOIMEHSY 128,686 127,156 1,530
s . BHa X 112,770 111,240 1,530
301 et A= 112,770 111,240 1,530
bE-2-EtEEEsEMZ 112,770 111,240 1,530
1. SE&SEYLESH| 111,520
b, Jlgsd 200,000¥ 34X «12& 81,600
L. &0 3 200,000 34X x23| 13,600
Ch. 3|9 &AM 4E 20,000 x34H «23| x12& 16,320
2. BHE G 25,000 x25% x2 3| 1,250
FOXNXNMHEZZ )SH2H 13,296 13,296 0
201 et d]| 13,296 13,296 0]
01 AP 2t 2| bl 13,296 13,296 0
(CEES=Yp 1,296
1. FOXXAHEHSEH| 120,000 * 122 *90% 1,296
(2944 12,000
1. FUNXAH S AN 12,000
Jb, QItDA(2H) 25,000& #8A| 2t x12& 2,400
L, QIOtnA(F) 25,000 x8A| 2t x 12 2,400
Ch. 2818 25,000& *8A| 2t x12& 2,400
¢, HAAIL=X 25,000& «8A| 2t x12& 2,400
OF. =X & (0F2H) 25,000& #8A| 2t x12& 2,400
HALS X 22l 2,620 2,620 0
307 QI2t0| ™ 2,620 2,620 0
05 QIZtREZ 2,620 2,620 0
1, 2ol =2 200,000 x12& 2,400
2. BAIED|HEE A= 2
110, 000& x1JH A %23 220
HHEL2IAAH (ZRS) 619,375 ,b57 28,818
A 2AH| 538,450 ,506 24,944
ol 2AHH| 538,450 ,506 24,944
101 Q1 24l 518,290 766 24,524
01 E% 518,290 , 766 24,524
(23) 353,674
1. s (275 2) 3,768,100 x 12 x12& 45,218
2. 6= (255 E2) 3,209,200 x22 x12& 77,021
3. 72(1682) 2,522,300 x5 x12& 151,338
4. 82 (e =) 1,580,600 x2H x12& 37,935

_89_




N 228
B #HL2ARY(22E)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
5. 9345 8) 1,355,300& x2H +12& 32,528
6. MRIMAHI 344,040,000& *2.8% 9,634
(&0 4=<) 45,645
1. iR Y 5,732
b, 52U R (305 8)
3,357,800& x1H x4 1%+ 12& 1,653
L. 62UR(2158)
2,763,000& *3H x4 1%+ 12& 4,079
2. 32 353,674,000 x1/12 29,473
3. 2o 3 10,440
Jb. 254 0] & 130, 000& 2 x12& 3,120
Lt. 204 Ol &~25E O] Bt
110,000& x3H x12& 3,960
Ch. 1590l &4~20= 018t 80,0003 *x1Hx12& 960
ct. 5 0l A4 ~10H 0] Bt 50,0003 x4H x12& 2,400
(JHHEE ) 10,544
1. ExEx< 6,960
Jb. B X 40,0003 +x8H x12& 3,840
L. JIEDIE 20,000& *13H x12& 3,120
2. AHEHEHIBEXLE 3,584
b, DS&kM 448 0003 x2H 40| 3,584
(S+222Y) 12,840
1 ExdRaY 12,840
b, s28f*x4¢ 70,000& x11H x12& 9,240
L. 02 30,0003 3G x12& 1,080
Ct. AFSIEXE24E 30,000& *4H 128 1,440
ch. M SXER2Sota3
30,000& *3H x12& 1,080
(Z22L2Y) 41,499
1TLAIZERASZ R Y 8,4763 *34A1 2Hx12H «12& 41,499
(AlHlE2as) 54,088
1. 3HZAH| 130,000& x 12 x12& 18,720
2. YE SO 353,674,000& *1.2/12 35,368
204 D282 Y| 20,160 19,740 420
02 &= & xH| 20,160 19,740 420
1. A3 2 XH| 20,160
b, 53 250,000& x1H x12& 3,000
L. 63 155,000 x2H ~12& 3,720
Ct. 73 140,000& x5 x12& 8,400
2. 82~92 105,000& *4H x12& 5,040
=3l 80,925 77,051
&l 80,925 77,051
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